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Tuesday, July 22, 2014


--- On commencing at 9:33 a.m.


MS. LEA:  Thank you very much.


Mr. Rogers.

Preliminary Matters:


MR. ROGERS:  Thank you very much.  I have two preliminary matters I would like to raise for people.  The first is -- deals with the benchmarking study we talked about yesterday, the CPI study, which we had some but not enough copies of.  We have now made more copies of those, and they're in the back room.


This is the Inergi benchmarking study, with some redactions in it.  It has not yet been served electronically.  That's being explored with Inergi, who are the people who are resisting wider dissemination, and we will keep you advised about that.


The second issue is further benchmarking studies.  These are customer-satisfaction benchmarking studies, I think dealing with residential customers, and there was an interrogatory asked by someone -- I'm not sure who at the moment -- for production of all of these benchmarking studies.


These were not produced in the answer to that interrogatory, because the people doing the answering weren't aware of them, but the continuing work revealed a couple more studies that they found, located, that deal with benchmarking.  One is a 2010 study; the second is a 2013 update benchmarking study.  We have hard copies of those available in the back room for people here, and those will be served electronically.


MS. LEA:  Okay.  Are they confidential?


MR. ROGERS:  No.  There are a few redactions, but they're not confidential.  I think they have redacted the names of the utilities who participated in the study.


MS. LEA:  Thank you very much.


Yes, we would -- I think those need to be served electronically if possible.


MR. ROGERS:  Yes, we will.  I think what we will do, Ms. Lea, is send them out as an addendum to the answer to the interrogatories so that people know --


MS. LEA:  Yes, thank you very much.  That would be excellent.


MR. ROGERS:  Now, with that I think we're ready to proceed.  Shall I introduce my panel for you?  I think most of these people are known to intervenors.


We will start to my left.  We have Mr. Stan But, who is manager of economics and load forecasting for Hydro One. Next to him, Mr. Henry Andre, manager of distribution pricing.  Next, Mr. David Adams, who is the customer-care director.  And to the extreme left side of the panel is Mr. Keith McDonell, director of human-relation operations.  These gentlemen will be available to answer questions dealing essentially with issues -- the cost-allocation, rate-design issues, as well as customer-satisfaction questions, thank you.


MS. LEA:  Thank you very much.  I think there is just one counsel who is here today who did not put in an appearance yesterday.  Mr. Warren?

Appearances:


MR. WARREN:  Yes.  Robert Warren, counsel for the City of Hamilton.


MS. LEA:  Thank you.


Now, Staff had a lot of questions yesterday, but we have relatively few today.  I was wondering if either Mr. Warren or someone else would like to begin, and that way they can deal with their matters.


MR. WARREN:  I am happy to begin.  For purposes of reference to the interrogatories, do you want the exhibit numbers, or just where they appear in my client's list of interrogatories?


MS. LEA:  We need either the exhibit number or the issue number so that they can be displayed easily on the screen.  So the tab number and the issue number are relatively similar, and either of those will do, but we will need that.  Is that difficult?  Because we can help with that.


MR. ROGERS:  If we just have the interrogatory number, it usually tells you at the top, I think, what issue is.


MR. WARREN:  They all deal with issue 7.6.  The question -- the issue is, are Hydro One's proposed charges for street lighting appropriate.


MS. LEA:  They will all be in the same tab then, no problem.  Thank you.
HYDRO ONE NETWORKS INC. - PANEL 2


Stan But


Henry Andre
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Keith McDonell

Questions by Mr. Warren:

MR. WARREN:  Panel, I have just a few questions, and all of these are follow-up questions to interrogatories that were proposed by my client, the City of Hamilton. And I delivered them to you in written form last Thursday.  I believe you should have them.


I am going to go through them in the order in which the interrogatories were posed.  So the first them is the City of Hamilton's Interrogatory No. 1, which is Exhibit I, tab 7.06, schedule 4.

In that interrogatory response the question dealt with your pre-filed evidence about your rate-class review.  In the interrogatory response the following statement appears:   
"Per the methodology used in the cost-allocation model, the total revenue collected at current rates is increased to equal the forecast rates revenue requirement by..."


And I underscore the following words:

"...uniformly increasing the revenue to be collected from all rate classes."


And my question about that is:  What is the relationship, if any, between uniformly increasing the revenue to be collected from all rate classes and the actual costs to serve my client's street lighting class?


MR. ANDRE:  So essentially none directly.  So revenues are calculated based on existing rates and existing volumes of number of customers and consumption, and then costs are determined by the cost allocation model, via its various inputs.


They ultimately do get connected in the determination of the revenue-to-cost ratio, so those two numbers are determined independently, and then they result in a revenue-to-cost ratio.  And then, depending on what that revenue-to-cost ratio is, some adjustments may be required, which may result in changes to the revenue.


But at the outset, Mr. Warren, the two numbers aren't related.


MR. WARREN:  Thank you.  Second question relates to my client's Interrogatory No. 2, which is Exhibit I, tab 7.06, schedule 4, City of Hamilton No. 2.


The question is, in the answer you indicate that the Board's cost allocation model has not been modified in any way for the street lighting class.


And my question -- my client's question is, what is the effect of the modifications to the Board's cost allocation model, modifications that were undertaken according to the pre-filed evidence to accommodate Hydro One Networks' specific circumstances on the rates proposed for the City of Hamilton street lighting class?


MR. ANDRE:  So the reference to the modifications that Hydro One has made to its model relate to primarily two things.  One is, we break out our line assets into bulk assets and primary assets.  And the second modification is, we have density factors that move -- reallocate the costs between density-based rate classes.  Neither of those have an impact on street lighting, which is why the response originally said that the model's not been modified in any way for the street lighting class.  So those modifications don't directly impact street lighting.


MR. WARREN:  Just as a supplementary, panel, do they indirectly affect street lighting?  In this sense, let me be clear.


MR. ANDRE:  Yes.  The density factors, no.  The split of bulk between primary and bulk assets, ST assets, I guess, would have some impact, because the street lighting would share in -- would share in the primary cost assets, and then I guess they would also share in some the ST or bulk assets.


But it wouldn't be -- that's a separate question, in terms of, does splitting bulk and primary have any impact on the allocation of costs.  It would be a uniform impact across all rate classes.  Or not uniform, but it would impact all rate classes, not specifically the street lighting classes.


MR. WARREN:  Do you have any sense of how it would impact the street lighting class?


MR. ANDRE:  No, unfortunately not.


MR. WARREN:  Is that possible to determine, with some reasonable degree of ease?


MR. ANDRE:  You would have to do separate model runs with not breaking out the bulk and the primary assets, Mr. Warren, but that is a pretty fundamental input to the model which we absolutely believe results in a better allocation of costs.


The ST system and the primary system are used by different classes.  The ST class, for example only uses the ST assets.  The retail classes use the primary system plus a share of the ST system.


So that is a fundamental input to the cost allocation model which we would never consider changing.


MR. WARREN:  Third question, Exhibit I, tab 7.06, schedule 4.  It's the third Hamilton question.


In the answer to the question, panel, you indicated that there was additional effort for street lighting associated with the required communications with street light customers and so on and so forth.


Can you provide me with additional information as to what those additional efforts are, in relation to the City of Hamilton street lighting class?  And what I am looking for, panel, to make it easier, is there -- are the additional efforts reflected in meetings or data gathering or something objective that we can put our hands on to look at?


MR. ANDRE:  All right.  So first off, just -- because in your question you referred to the street lighting class of the City of Hamilton.  So I just wanted to get it on the record that we -- Hydro One has a street lighting class --


MR. WARREN:  Right.


MR. ANDRE:  -- that applies to all the street lights it serves across all of Ontario.  There is no "City of Hamilton street lighting class", just to be clear.


But as far as the efforts associated with all of our street light customers, really the response, the interrogatory response, Mr. Warren, summarizes what that is, and that is annually updating and validating changes to the billing data.


So the kilowatt-hour consumption associated with street lights for our various customers' needs to be checked on a regular basis, and then that updated information on the consumption for the street lights needs to get input into the billing system to generate correct bills.


So that's pretty much what I have.


MR. WARREN:  Thank you for that, panel.  But my focus was really on the use of the modifier "additional", which suggests that between the existing system and the period 2015 to 2019 there will be additional efforts required to gather that data.


And what I am trying to put my finger on is what those additional efforts consist of.


MR. ANDRE:  Ah.  Okay.  So the "additional" doesn't refer to a change from what was in the past.


The street lighting class, the question is tied to the weighting factors that are used for the street lighting class, and the weighting factor that is used for the street lighting class is 2.0.


MR. WARREN:  All right.


MR. ANDRE:  And I took the question to refer to why is the weighting factor 2.0 as opposed to 1, which is the weighting factor for the residential classes.


And the weighting factor of 2 for street lighting, which is also the same weighting factor -- GSE, UGE, street light and the USL rate classes, they all have a weighting factor of 2.  And they're associated with additional efforts required to bill those customer classes.


So it is not additional relative to something in the past.  It is --


[Teleconference interruption]

MR. ANDRE:  We're good?  So yes, so as I said, the "additional" refers to relative to --


MR. WARREN:  I think we may have just executed Peter Thompson, but I... I think that warrants a moment of silence.


[Laughter]


MS. LEA:  I don't think there was anyone there this morning.  Was there someone going to be there this morning?  We understood it was only panel 1 they were interested in, so...


Unfortunately, or fortunately, I don't believe your premise is correct.


[Laughter]


MR. WARREN:  My apologies for the interruption.  Let me try and separate that.  And I apologize for my being thus slow on this.


The weighting factor, do I take it, is a function of the effort required to bill?  Is that...


MR. ANDRE:  Yes, billing -- it is called the "billing and collections weighting factor" and it applies to the costs in the cost allocation model that relate to customer service, customer billing and collections costs.


MR. WARREN:  So do I take it, then, panel, that there are no different or more efforts required for the street lighting class?  It is just the additional effort is the relationship for the weighting factor of the relationship between that and other classes; is that fair?


MR. ANDRE:  That's correct.


MR. WARREN:  Okay.  And how would the weighting factor compare for street lighting, for example, in relation to the sentinel lighting class, which has a much lower -- or has a lower weighting factor?


MR. ANDRE:  Right.  So as I mentioned, there is a number of other classes that have a weighting factor of 2.  The sentinel lighting factor is 0.02, and the -- with the sentinel lights, there is no annual update to that kilowatt consumption of sentinel lights.


And sentinel lights are billed on the same bill as -- so a residential customer, for example, might also have sentinel lights on their property.


So sentinel lights is essentially a line item on another existing bill, on another existing residential bill.


So there's very -- there's minimal effort associated with billing sentinel lights, because it is simply a line item on an existing bill.


MR. WARREN:  And is there -- what's the evidence on which the weighting factor for the street lighting class, for example, is based?


MR. ANDRE:  That was based on discussions I had with folks in the customer service area that work with billing on -- you know, just a general discussion around what is involved in billing these different classes, and here are the factors, because we had some of the -- not some.  We had weighting factors for all of the rate classes since the model was first used in 2006.


So it was a discussion around:  Are these weighting factors appropriate?  Should they be higher or lower?  Just based on a general understanding of the effort required to bill those customers.


MR. WARREN:  Can you point me, sir, in the prefiled evidence where I would find a list of those weighting factors and –-


MR. ANDRE:  Yes.  And that discussion that I just had is mentioned in the evidence.  Certainly.


So that information is in Exhibit G1, tab 3, schedule 1, in section 2.5.1.


MR. WARREN:  Sorry, Exhibit G1, tab 3 --


MR. ANDRE:  Schedule 1.


MR. WARREN:  Schedule 1.


MR. ANDRE:  Then section 2.5.1 of that exhibit.


MR. WARREN:  You don't need to turn it up now.  Thanks.


I'll go to the next question, which is Exhibit I, tab 7.06, schedule 4.  It is the fourth of the City of Hamilton interrogatories.


And you refer to -- there to:

"Minimum system costs associated with serving the street lighting class."


Can you tell me what the minimum system costs are for serving the street lighting class?


MR. ANDRE:  So that question, the original interrogatory dealt with the fixed charge.


MR. WARREN:  Right.


MR. ANDRE:  And the fixed charge is determined in the Board's cost allocation model in -- the model is split into various tabs.  So tab 02 is the tab that deals with the fixed charge calculation, and in that tab, the Board's model calculates the minimum system costs associated with each; it's method 3.  There's three methods for calculating potential fixed charges, and the third deals with minimum system.


MR. WARREN:  You didn't modify that in any way?


MR. ANDRE:  No.


MR. WARREN:  Okay.  Thanks.


I am going to skip Interrogatory No. 5 and go to Interrogatory No. 6 from my client, Exhibit I, tab 7.06, schedule 4 of 6.


And in this question, you indicated that there was -- the prefiled evidence, I'm sorry, indicates there is a material increase in the street light connections.


And the answer indicates that:
"Based on discussions with superintendents in the field, Hydro One has updated its assumption for the number of devices per connection."


Can you tell me, are there reports or records of other discussions, records of discussions with the superintendents with respect to the number of devices per connection?


MR. ANDRE:  Yes.  So, Mr. Warren, for this one we actually have a written response that –- there's hard copies available here and I assume it will be filed electronically.


I will wait for you to get a copy of that.


MR. ROGERS:  Do you have a copy?


MR. ANDRE:  Yes, I do.  I have my own copy.


[Copies handed out to intervenors.]


MR. ANDRE:  You know what?  I thought I did.  No.


Can I get one as well?  I gave away all of my copies.


So, Mr. Warren, there are e-mail chains, because, you know, different people would copy each other and forward it on.  So what I have done for you is I have summarized the person contacted, the operating centre in which they operate.  "Zone" is an internal Hydro One definition of the zones; we have seven zones across the province.  And the feedback that was provided by each of those contacts.


So this is a summary of that correspondence, and the feedback that we got from those individuals.


MR. WARREN:  Just at a quick glance, panel, I don't see any reference to the City of Hamilton.  Is it incorporated within one of these zones, or was it just not looked at?


MR. ANDRE:  So we got a response from a couple of folks who were in the Thorold, Simcoe area.  Yes.  So there wasn't a response from every single field superintendent across the province, but we got a fairly representative response from across the province, as you can see.  All of the different zones of our service territory are represented.


And you're right.  I don't believe we got a specific response from the person who looks after the Hamilton area.


MR. WARREN:  Is it possible -- given that the number of devices per connection for Hamilton is not eight but is some other number, and if that assumption were correct, should the costs for servicing Hamilton be different?


MR. ANDRE:  So this goes back to what I said originally, that the street lighting class is representative of all of the -- it's an average of all of the street lights.


So I don't believe -- the City of Hamilton obviously is served by Horizon.  So I think we do provide some lighting service at the edges of Hamilton, but the street lights to the City of Hamilton would be a relatively small number compared to all of the street lights in the province, and what the model requires is an average number of devices per connection, or the number of connections, actually, across the province.


So an individual number for Hamilton wouldn't materially impact the assumptions we have made in the model.

MR. WARREN:  Thank you.


The City of Hamilton's Interrogatory No. 7, Exhibit I, tab 7.06, schedule 4, number 7.  And the first of the question -- follow-up questions I have --


MR. ROGERS:  Excuse me, I'm sorry, Mr. Warren, just before you proceed, Ms. Lea, this hand-out that's just been passed around has not been -- was not provided in answer to the interrogatory per se.  It's been, I think, generated because Mr. Warren expressed some interest in this area.


So we probably should give it an exhibit number or mark it in some way.


MS. LEA:  That's fine then.  Let's call it TCK2.1.

EXHIBIT NO. TCK2.1:  SUMMARY OF CORRESPONDENCE WITH FIELD SUPERINTENDENTS.


MS. LEA:  And while we're on the subject of exhibits, I just wanted to note that -- so, sorry, I should get a title for that exhibit.  What is...


MR. ROGERS:  What would you call this, Mr. Andre?


MR. ANDRE:  A title?  So --


MS. LEA:  Addendum to...


MR. ANDRE:  No.  So it was a summary -- what's in the response, or --


MR. ROGERS:  This is in response to an Interrogatory No. 6, as I understand it, from the City of Hamilton?  But it's supplementary to what you provided the first time around.


MR. ANDRE:  Well, but it's -- so Mr. Warren provided a series of questions that he was going to ask at this technical conference.  So it is a response to the question that he asked at this technical conference, is how I would characterize it.


MR. ROGERS:  Well, why don't we just say "summary of reports with field superintendents".


MR. ANDRE:  Correspondence, not reports.


MR. ROGERS:  Or summary of --


MR. ANDRE:  Correspondence with field superintendents is fine.


MR. ROGERS:  Correspondence with field representatives.

MS. LEA:  Field reps.  Okay.  That's TCK2.1.


Now, while we're on the subject of exhibits I remember that Hydro One asked yesterday that the additional investment summary reports that were handed out by the first panel, brush control and DS station refurbishment program, were to be added to the exhibit number that we assigned yesterday to the investment summary report for the -- yeah, line clearing.


So we will do that now, and I am just trying to find that exhibit number.  Did I write it down?  Oh, excellent.  Thank you very much.  TCK1.1.  So those are now part of that exhibit, and we will so mark them in the Board Secretary's office, thanks.


We are complete, thank you.


MR. WARREN:  The next series of questions, panel, relates to the City of Hamilton's Interrogatory No. 7, Exhibit I, tab 7.06, schedule 4, City of Hamilton 7.


There are two questions.  One is, first, what's the relationship between the number of connections and the actual costs for the street lighting class?  What's the causal relationship?


MR. ANDRE:  Yes.  The response to City of Hamilton Interrogatory No. 9, if you turn to that, part (c) talks about what that relationship is.


The first sentence talks about the relationship between the number of devices per connection and connections.  So devices and connections.  And then the second sentence says that an increased number of connections attract more customer-related costs.


However, with an increase in the number of connections, more of the class demand can be met by the minimum system, which could result in a decrease of some of the demand-related costs.  Then it goes on to explain that a little bit further.


So that would be the relationship between connections and costs.


MR. WARREN:  Okay.  Now, in the pre-filed evidence, I have referred to it in the second question, and it is a statement that appears in Exhibit G2, tab 1, schedule 1, page 6 of 7.


The statement indicates that Hydro One Networks rates for the street lighting customers are developed on a per-account basis, not per connection.


That is, at least to me, an apparent contradiction between calculating costs on a connection-related basis and on a per-account basis.


Can you explain the difference and whether or not there is in fact a contradiction?


MR. ANDRE:  So the Board model works for all rate classes based on the number of connections and the consumption to determine the costs that should be allocated to a specific rate class.


Once you have those costs allocated to a rate class, it gets split between fixed and variable rates, depending on what fixed charge you select.


That amount of money that needs to be collected from -- on a fixed basis is recovered on a per-account basis, because we don't have in our billing system information on a per-connection basis.


So the costs that are to be paid by the class are correctly determined by the cost allocation model associated with that particular class.


The recovery of those costs is on a per-account basis, because that's the information we have available for that class.


So I don't see that there is a contradiction, and certainly the costs are being appropriately calculated by the model.


MR. WARREN:  Thank you.  Can we go to number 8?


MR. HARPER:  Excuse me, Mr. Warren, would you mind if I just sought a moment of clarification on that response?  Would that be okay?


MR. WARREN:  Of course.

Questions by Mr. Harper:


MR. HARPER:  I just want to be clear.  Your service charge for street lighting is levied on a per-connection basis, on a per-account basis.


MR. ANDRE:  Right.  Bill, the model calculates it, so if you go to 02 it is calculated on a per-connection basis, but it is levied on a per-account basis, because we don't have information on a per-connection basis for our street lights, so --


MR. HARPER:  So that would differ, because most utilities do it on a per-connection basis.


MR. ANDRE:  Yes.  And I would be curious to know how those utilities have the information on a per-connection basis, but, yes --


MR. HARPER:  Okay.  I just wanted to get that clarification.


MR. ANDRE:  Yes, no, you're absolutely right.


MR. HARPER:  Thank you.  Sorry for the interruption.


MR. WARREN:  Not at all.


The City of Hamilton Interrogatory No. 8, Exhibit I, tab 7.06, schedule 4, number 8.


You indicate there that the Board had approved an increase in the revenue-to-cost ratio for the street lighting class to 0.93.


Can you just refer me to where that approval is found?


MR. ANDRE:  Yes.  So the -- there was a Board decision, an order, dated December 14th, 2012 that approved the settlement agreement in Hydro One's 2013 IRM application.  That was application number EB-2012-0136.


So the Board's decision and order approving that settlement, as part of that settlement there was costs shifted from some of the urban classes to other rate classes that were paying below their -- the revenue-to-cost ratio was lower than 1, so there was some shifting of revenue.


And in appendix D of that settlement agreement you will see the revenue adjustment that gets made to the street light and sentinel light class, so that the revenue-to-cost ratio for both of those classes was 0.93.


So it would be -- the reference would be appendix D to the decision and order, which included the settlement agreement.


MR. WARREN:  Is it fair for me to assume -- and I am going to put words in your mouth, and you're at liberty to spit them out -- is it fair for me to assume that the Board's approval of the increase in the revenue-to-cost ratio is an incidental effect of a settlement agreement reached?  Is that fair?


And the distinction there is that the Board -- I don't see anywhere in the settlement agreement where the parties put their minds specifically to the revenue-to-cost ratio for the street lighting class.  It falls out of --


MR. ANDRE:  The --


MR. WARREN:  -- a larger settlement.  Is that fair?


MR. ANDRE:  Yes.  So Mr. Warren, certainly during the settlement agreement that was specifically highlighted, that the -- you know, there was a discussion of how to readjust or reallocate the revenue that needed to come off of the urban classes and to which classes they would go.  So certainly as part of the settlement agreement that was specifically discussed.


The extent to which the Board reviews the settlement agreement and consciously makes a decision, I am not sure I can make a comment on that.


MR. WARREN:  Oh, absolutely.  I am not asking you to make a comment on that.


Were you a participant in the settlement discussions in that case?


MR. ANDRE:  I was providing support.  So I wasn't directly in the room, but I was providing support to the folks that were --


MR. ROGERS:  Mr. Warren, as you are well aware, these settlement conferences are confidential.  And I don't know whether your client was a party to that or not, but I just caution you to -- not to get into the discussions in the settlement conference.


The fact of the matter is it was settled, and all of the parties were there and everybody was represented and they made a settlement that the Board approved.


MR. WARREN:  Do you know if the street lighting class was represented, sir?


MR. ROGERS:  I assume Board Staff represents everybody.


MR. WARREN:  Ah.  Thank you for that, Mr. Rogers.


MR. ROGERS:  In the public interest.


MR. WARREN:  Right.  If you go to the second part of the question, in response to the interrogatory you provided a copy or a reference to a School Energy Coalition interrogatory response.  It is Exhibit I, tab 7.4, schedule 9, SEC No. 60.


In that interrogatory response, you listed seven changes to the inputs used for the cost allocation model.  And since it was referred to in response to a question my client posed, can you indicate what evidence, with respect to each of those changes, supports a change in the revenue-to-cost ratio for the street lighting class?


I am just trying to get the nexus between those seven points and a change in the revenue-to-cost ratio for the street lighting class.


MR. ANDRE:  So some of those improvements that are referred to in that interrogatory response wouldn't necessarily apply to the street lighting class.


But the ones that I would consider result in an improvement to all costs, including the sentinel light class, is improving the costs by US of A.


So the third bullet down would result -- having better costs in the various US of A accounts would results in an improvement to the costs allocated to all rate classes.


Updating the PLCC calculation, which is the fifth bullet down, again, that would improve the determination of minimum system costs for all classes, and I would argue would also improve the allocation to sentinel lights.


The billing and collection and services weighting factors have been updated.  And like we discussed in one of your previous questions, Mr. Warren, those -- an update to those or a reconfirmation of those in this case for the street lighting class -- because it didn't change from the previous number, but it did change for some of the other classes -- would result in an improvement that also impacts street lights.


And then the allocation of administrative costs, again, is impactive on all rate classes.


Then one that is not mentioned there but that I would say would be more specific to the street lights would be the adjustment in the number of devices to connections for the street light class.  So that number has been reviewed and updated based on the information from the field superintendents, as I mentioned in one of your previous responses.  And that certainly would improve the allocation of costs to the street light class.


MR. WARREN:  My final question is for the final of 12 of the City of Hamilton's interrogatories.


In that question, you were asked essentially for comparables, whether or not you had compared your -- the costs and the revenues for the street lighting class for your system with those of other utilities in the province.


And essentially what you said is -- my gloss on your answer -- is that they cannot be compared, that you are sui generis; you're unique.


Am I to understand that there is there is no distribution utility in this province with similar geographic circumstances and population densities that would provide a comparison for Hydro One for the street lighting class?  None at all?


MR. ANDRE:  No.  I think, Mr. Warren, it goes beyond that.  So certainly, first off, is:  Do you have a utility that has a comparable service territory?  And you know, there may be a few utilities that might have one urban area and then maybe some lighting on the outskirts.


Certainly I don't think any utility serves the range of urban, small town and rural areas, all of which have street lights, that Hydro One has.


So the difference in utilities is one factor, but it goes beyond that.  And the other inputs -- and I would point you to a response that was given to Balsam Lake, one of Balsam Lake Coalition's interrogatories, No. 8.  So it is Exhibit I, tab 7.02, schedule 7, BLC 8.


And in that response, I highlight that there are a number of factors that will contribute to differences between utilities' costs by rate class, and so the total revenue requirement of the utility.


I mean, each utility has a unique set of needs that drives a unique revenue requirement, the cost allocation model inputs -- I am just reading the five things that are listed there.  The load forecast and load profile assumptions for each rate class, the revenue-to-cost ratios that each rate class has.


So the Board has a range, and different utilities, for their rate classes, will fall within that range.  So we may not be all at the same revenue-to-cost ratio.


Then the fixed/variable revenue split that a particular utility has.


So all of those items would contribute to difference in the allocated costs, Mr. Warren.  I know your question referred to actual costs, but that is another thing that I wanted to be clear, that there are -- we don't have the actual costs of serving any particular rate class.


What we have is the Board model's allocated costs for serving those rate classes.


And as I said, for the reasons I just stated the allocated costs for serving a rate class can be quite different among utilities.


MR. WARREN:  Thank you, panel.  Those are my questions.


MS. LEA:  Thank you.

Questions by Mr. Copes:


MR. COPES:  Good morning.  We have a question on issue 7.1, "Are the rate classes and their definitions proposed by Hydro One appropriate?"  
We asked Hydro One:

"In order to evaluate the impact of the potential elimination of the seasonal class customer, please prepare a pro forma statement in which all 144,000 seasonal customers are eliminated as a separate class and are moved into their appropriate residential UR, R1 and R2 density zones."


And --


MS. LEA:  Mr. Copes, do you happen to have the number of that interrogatory?


MR. COPES:  I am getting to that.


MS. LEA:  Thank you.


MR. COPES:  Hydro One responded by referring to their response to the Board Staff Question No. 94, which asked a similar question.  And their response is found at Exhibit 1, tab 7.02, schedule 1, page 2.


MS. LEA:  Just a moment while I pull that up.  Thank you.


MR. COPES:  Is that the -- I don't see the...


MS. GIRVAN:  So, Nick, first of all, your -- you should refer to your specific interrogatory number that you're talking about.


MR. COPES:  Our number was No. 3, and it was a --


MS. GIRVAN:  So it is tab 7.01.


MR. COPES:  7.01, schedule 7.


MS. GIRVAN:  Balsam Lake No. 3.


MR. COPES:  No. 3, yes.


MS. GIRVAN:  Just so that we can follow.  Thanks.


MR. COPES:  There was two tables which I am trying to understand, table 1 and table 2, which is found at Exhibit 1, tab 7.02, schedule 1.  There we have it now.  Okay.


Now, I wonder if you could help me understand this table by explaining why the distribution rate for customers other than residential are affected by the migration of seasonal customers to the residential zones.


Could you explain that, why that occurs?


MR. ANDRE:  Yes.  So when the seasonal customers are amalgamated with either the R1 or the R2 class, it changes the load profile and the demand allocators that are input into the model for those rate classes, the 4 NCP and 12 NCP values.


And so those different inputs to the model result in a different cost being allocated to those classes.  And so if you go to -- I believe this response also included the output sheet 01.  So can you scroll down and just confirm that -- or maybe it was attachment 1, yeah.  Maybe it is attachment 1 to that one, yes.


So that is output sheet 01, which I appreciate is hard to see.  But in this output from the model, you see the revenue-to-cost ratios down at the bottom for the rate classes.  And it is -- those revenue-to-cost ratios change as a result of -- as a result of the amalgamating of seasonal customers into the R1 and R2 rate classes.


I am looking to see the R2.  I wanted to -- and it won't be easy to get them on the screen.  But the basic answer, sir, is that the revenue-to-cost ratios have changed, right?  With the new inputs the revenue-to-cost ratios for those rate classes have changed.


So when it comes time to make the revenue-to-cost ratio adjustments, the R2 class before was able to absorb some of those costs, because the revenue-to-cost ratio was down at -- I think in our original filing was down at .92, I believe.  I am not going to take it out.  And now it is at .95.


So when we shift the costs from the UR class, which are overpaying, because, as you can see, the revenue-to-cost ratio even here is 1.29, and for the R1 class it is 1.19.


So both of those revenue-to-cost ratios need to be brought down within the Board range, which is 1.15.


Now when you shift those costs not as many can go to -- in fact, no costs can go to the R2 class, because we settle on a revenue-to-cost ratio of .94.


So the -- those revenues that in our filed proposal we're shifting to the R2 class are now being shifted to some of the general-service classes in order for us to, you know, have a net recovery of -- they're being a balance between the revenue being required -- being collected through rates and revenue requirement.


So before, the revenue-to-cost ratio adjustments, some of the costs were going to the R2 class.  Now they can't go to the R2 class, so that it means the other rate classes have to absorb more of the revenue-shifting, which results in an increase in their rates.


MR. COPES:  Thank you.


With respect to tables 1 and 2, we asked whether it is possible to modify these tables so that we can compare apples with apples and oranges with oranges.


For example, in table 1 we have a monthly consumption of 800 kilowatt-hours and in table 2 we have 50, 400, and 1,000 kilowatt-hours.  So it is difficult to compare the two tables and the two impacts.


And also in -- we have R2 in table 1, that includes the RRRP subsidy, and in table 2 it doesn't include the RRRP subsidy.  So we're wondering whether it is possible for you to modify the tables so that we can compare apples with apples?


MR. CHESHIRE:  Just as an added comment there, we're only really interested in the SC and VDC, not the other -- all the other elements, Henry, of, you know, of that delivery schedule.  It is just the SC, which is the -- the SC and the DVC are the two differentiators, and using actual 2014 and proposed 2015 --


MR. ANDRE:  Right.


MR. CHESHIRE:  -- rates, as opposed to, this is a summary, but we can't figure out what it refers to.


MR. ANDRE:  Okay.  So the -- first off, I appreciated getting the question ahead of time, because it did allow me to get my analyst to work out the numbers you're looking for.  So this is another one of the responses where we have a written response to provide you.


MR. CHESHIRE:  Terrific.


MS. FRANK:  Do you have a copy?


MR. ANDRE:  Yes, this one I have a copy.


[Ms. Frank passes out documents.]


MS. LEA:  Thank you very much for doing that.  So we will give this an exhibit number also.  It will be TCK2.2.

EXHIBIT NO. TCK2.2:  WRITTEN RESPONSE TO A QUESTION PREVIOUSLY ASKED RE:  MODIFIED TABLES.


MR. COPES:  Thank you very much.


MR. ANDRE:  So in table 1, as you've requested, we added a line that shows the R2 without RPP, and then in the second table on the back of your two-sided hand-out you will so that we have -- we have added a row to show seasonal with RPP, and we have modified the consumption amounts to be 50, 400, and 800 so that you can do whatever comparison you feel is appropriate.


MR. CHESHIRE:  Sorry, I was just --


MS. GIRVAN:  Do you want the monthly charge bill?


MR. CHESHIRE:  Henry, what we were simply looking for was a 2014 service charge for those categories, with and without the RRRP, and then the proposed 2015 service charge and volumetric distribution charge for those two -- it is that simple.


MR. ANDRE:  So just the charges themselves, not any --


MR. CHESHIRE:  The actual charges that result in these changes.  Not the total bill.  Not the total distribution cost.  But the impact of the seasonal to R1 and R2 move is very clear when you look at both the SC and the VDC.  Does that help?


MR. ANDRE:  Yes.  So certainly -- so if you want just the actual charges, so then the volumes, for example, are irrelevant and --


MR. CHESHIRE:  Well, the volumes are irrelevant in a sense, but, I mean, if you do them at -- I would say doing them at -- you have done 50, 400, and 800, and that's fine, you know, those are three pretty good characteristics.


If we see that for those three characteristics, it is a simple chart.  I have actually run it, and I don't think it is all that tough.  And it is 2014 actuals and 2015 proposed.


MR. ANDRE:  Proposed.  And certainly that's -- the numbers that you see in the table that we've provided is the difference between 2014 actuals and 2015 proposed.  It's just --


MR. CHESHIRE:  I understand, but I don't know what that is --


MR. ANDRE:  -- it is just a combination that adds the fixed and variable together to come up with a "distribution" charge.  And you're --


MR. CHESHIRE:  I think you've got rate rider and other elements in here too.


MR. ANDRE:  Yes.


MR. CHESHIRE:  And so, you know, those things that are not differentiators between -- in this class issue, and the only two that are differentiators are a service charge and volume distribution charge, I think, really.


MR. ANDRE:  Yes.  Well, if we -- when we amalgamate the classes, the riders would also be differentiated, right?  So the riders would be slightly different for a class that includes, you know, 80,000 seasonal customers, so the calculation -- so the riders are also different --


MR. CHESHIRE:  Okay --


MR. ANDRE:  -- then we need the rider as a separate item for 2014/2015 as well.


MS. GIRVAN:  Yeah, don't -- can I just interject?  I think what you're looking for is the numbers behind this, the service charge, the variable charge, any extra riders that are used to calculate these amounts?  Okay.


MR. CHESHIRE:  Yes, exactly.  Just that.  Just the ones that differentiate between 2014, so that, you know, we can go to seasonal people and say, here's the impact of this change.  Not of other policy changes, but of this one change.


MR. ROGERS:  Do you understand?


MR. CHESHIRE:  Does that make sense?


MR. ANDRE:  Yes.  So you're looking for the -- instead of showing just the change in distribution bill, you want to see the different items that make up that change.


Are you familiar with --


MS. GIRVAN:  A change in the rates.  The changes in the rates --


MR. ANDRE:  That's right.  Yeah, right --


MR. ROGERS:  Hold it, everybody, please.  If we can just have one person at a time speaking.  Otherwise it will be a shambles.


MR. ANDRE:  The change in -- are you familiar with the Board template that is used to -- because these are all derived from the Board template.  And the Board template for coming up with these impacts includes all of the components, it includes the starting rate, the '14 rate, the '15 rate, the volumes, and then does all of the multiplication.


So that Board template shows the rates, as well as the volumes that are applied to those rates.


So would having the Board template be of assistance?  I mean, I could summarize it.  I could do a separate summary.


MR. CHESHIRE:  I am trying to make it easy, really, and just say the key items, I think, at this stage, in terms of, you know, of this change are the service charge, which potentially could go from low 20s to $67 a month, which is a significant change, and the volumetric distribution charge, which it currently for seasonals, as you well know, is .0809, and could go as low as .04137.


I am just looking for the major items, not the, you know, not the two cents or three cents per kilowatt-hour items.  That is really what we're after, I think, isn't it?


MR. COPES:  Hmm-hmm.


MR. CHESHIRE:  Is that fair?  And then, you know, then we can really understand it.  Because when I do my math I can't get anything like this result.


MR. ANDRE:  Okay.  So I can certainly -- I can provide that.  I will take that as an undertaking.


MR. CHESHIRE:  All right.  Thank you.


MS. LEA:  So I believe --


MR. ANDRE:  I am advised I should be confirming with my counsel that I can take this as an undertaking.


[Laughter]


MR. ROGERS:  You may.


MS. LEA:  Too late.


MR. ROGERS:  Too late.


MS. LEA:  This is the first undertaking today, so it will be TCJ2.1.  I am incapable of writing down a short few words to describe this undertaking.  Mr. Andre, do you wish to provide a few words to label this undertaking?


MR. ROGERS:  Short label.


MS. LEA:  We could just call it "inputs to rate calculation".


MS. GIRVAN:  Bill calculations.


MS. LEA:  Bill calculation.


MR. ANDRE:  Yes, service charge, volumetric charge, and rider inputs to the bill calculations is what I am going to provide.
UNDERTAKING NO. TCJ2.1:  TO PROVIDE THE SERVICE CHARGE, VOLUMETRIC CHARGE, AND RIDER INPUTS TO THE BILL CALCULATIONS; as well as a Comparison between 2014 actual and 2015 proposed


MS. GIRVAN:  Yes, we want to see the change.  If you move those customers into the R1 and R2, what's the difference in the volumetric charge and the fixed charge?


MR. ANDRE:  So just to expand on that, so -- what have we said so far?  Ms. Lea?


MS. LEA:  I have service charge, volumetric charge and rider inputs to bill calculation.


MR. ANDRE:  So add the words:  "Comparison between 2014 actual and 2015 proposed".

MS. LEA:  Thank you.


MR. ANDRE:  So that is what I will provide.


MR. ROGERS:  The title will be longer than the answer, but it can't be helped.


[Laughter]


MS. LEA:  In this one, I wanted to get it accurate.  Thank you very much.  Please proceed.  Oops, sorry, do you somebody has a --


MR. COPES:  We have another question.


MS. LEA:  One moment.  Someone has a follow-up question, if that is all right, sir.  Thanks, Mr. Copes.

Questions by Mr. Harper:


MR. HARPER:  Actually it was just a simple clarification.


The bill impacts you're showing here are, under the proposal that was described, the difference between 2014 to -- 2014 actuals to 2015 under the rates assumed in this scenario?


MR. ANDRE:  Yes.  In this scenario, yes.


MR. HARPER:  As opposed to when I first read it, and I thought it was the difference between the 2015 rates in your original proposal versus the 2015 rates in this one.  But then that's not what this is?


MR. ANDRE:  No.  It is 2014 to the 2015 under this scenario.


MR. HARPER:  Okay.  Thank you.  That is all I wanted, just to make sure I understood.


MR. ANDRE:  Yes.


MS. LEA:  Thank you.


MR. COPES:  We have a follow-up question here on the RRRP subsidy.


It is our understanding that current R2 residential customers all receive the RRRP subsidy; is that correct?


MR. ANDRE:  Yes, that's correct.


MR. COPES:  And also that the seasonal customers in R2 density do not receive the RRRP subsidy; is that correct?


MR. ANDRE:  There are no -- seasonal customers is a different class than R2.


So there is no seasonal customer in a R2 density -- oh, you mean our -- seasonal customers, yeah, regardless of whether they're in a small town or rural area, if that is what you mean by R2 density, if you mean like in a rural area.  Yeah, all seasonal customers do not receive the RRRP credit.


MR. COPES:  Now, if the seasonal customers migrate to the R2 zone, would they be receiving the RRRP subsidy?


MR. ANDRE:  If they migrate to the R2 class --


MR. COPES:  Class, yes.


MR. ANDRE:  Our proposal as we filed it would be that if we were moving those approximately 11,000 high-volume seasonal customers to the R2 class, I think for administrative simplicity our proposal was that they would receive the RRRP credit.  We wouldn't create a separate class, if you will.


But I think we have put it on the record in the IR responses that if the plan was to move all seasonal customers and merge -- eliminate that class and merge them with the R1 and R2, then no, seasonal customers, even in the R2 class, would be separately identified and would not be eligible for the RRRP credit.


MR. COPES:  And what is the rationale for that statement that they don't qualify?  What do you base that on?


MR. ANDRE:  I base that on the Ontario regulation that governs the funding of the RRRP credit.


MR. COPES:  You mean Regulation 108?


MR. ANDRE:  No.  I mean --


MR. CHESHIRE:  442/01, Henry.


MR. ANDRE:  Yes.


MR. CHESHIRE:  And so what you're saying, if I may, as a follow-up to that is you're saying -- because this regulation clearly defines residential premises as:

"A dwelling occupied as a residence continuously for at least eight months of the year."

You're saying that a proxy for eight months of the year is 9,600 kilowatt-hours per year consumption?


So you're making a policy leap to suggest that whereas the definition -- the regulation defines it as residency, you're making it -- you're saying:  No, we can now make a policy decision on consumption.


It would seem to me that would be the Board that would have to make that decision.


MS. LEA:  Actually the government.


MR. CHESHIRE:  Oh.  Well, whomever.


MR. ANDRE:  Yes.  So the "leap" -- as you say -- we are going probably -- not probably.  We are going outside that strict definition that is in that regulation.


MR. CHESHIRE:  That's right.


MR. ANDRE:  And we would propose that we would do that under our proposal where it is those 11,000 customers moving, just because it is a relatively small number, just for administrative simplicity of billing and dealing with those customers.


But if the proposal was merging all of the seasonal customers, then we would apply the definition strictly as shown in the regulation.


MR. CHESHIRE:  Just one more follow-up on that.  Would you then apply that also, that same criterion to the R1 and R2 customers who had less than 96 kilowatt-hours per year consumption?


MR. ANDRE:  No.  Absolutely not.  The --


MR. CHESHIRE:  So therein lies the problem.


MR. ANDRE:  -- the regulation is clear about, you know, year-round primary residences are eligible for that RRRP credit, in rural areas.


MR. COPES:  In our view, it is not clear, basically, that -- what you just said there, because apparently this originally was based upon a Regulation 108 of the Power Corporations Act, and that regulation has now been repealed.


And so basically it is -- if a residence occupies -- if a resident occupies the same residential premises as defined in section 108, that would qualify them.  And that regulation has been repealed.


So would it be asking too much for Hydro One to obtain a legal opinion on this question?


MR. ROGERS:  Yes, it would be.  Well, I think, yes, it would be, with respect, sir, yes.


I mean, you want Hydro One to give you a legal opinion as to the regulations that apply?


MR. COPES:  Whether seasonal customers would qualify for the RRRP subsidy.  That is what we're -- we're saying it appears to be that they should qualify, and at the present time they don't qualify.


MR. ROGERS:  I think that my client feels it is quite clear and there is no need to do this.  So we will not volunteer to do it, no.


MR. COPES:  Fine.  Thank you.


MS. GIRVAN:  Can I just follow up on that?


Is it Hydro One's position that they're the ones who interpret what customers get the RRRP?  That's what you seem to be saying.


MR. ANDRE:  Certainly in this proposal, in trying to accommodate all of the feedback that we received from the various seasonal customers, that move of the 11,000 high-volume seasonal customers and the proposal to merge them with the residential classes, yes, that is a Hydro One proposal, which we have put in front of the Board and would wait for them to rule on it.


MS. GIRVAN:  So it is your interpretation of who should receive the RRRP?


MR. ANDRE:  Yes.  The regulation doesn't say anything about consumption.  So it was our analysis and interpretation of the typical consumption of the residential customers we have, the R2 residential customers we have, in trying to say:  Okay, do these high-volume seasonal customers look like a year-round residential customer?


MS. GIRVAN:  Okay.  Can you just clarify again typically what customers qualify for RRRP?


MR. ANDRE:  It is in the --


MR. CHESHIRE:  In the regulation?  I have it right here, Henry, if you want me to read it.


MR. ANDRE:  Yes.  I have it in one of the IR responses as well.  I know VECC had asked about that.


MS. GIRVAN:  Just to get it clear on the record, and then I have a follow-up to that.


MR. CHESHIRE:  The definition of residential premises, if I may, means:

"A dwelling occupied as a residence continuously for at least eight months of the year, and where the residential premises is located on a farm, includes other farm premises associated with the residential electricity meter."


MS. GIRVAN:  Okay.  I guess my follow-up question to that is:  How does Hydro One monitor that?  So how does Hydro One ensure the customers getting the RRRP are, in fact, meeting that criterion?


MR. ANDRE:  The R2 classes are all primary residences.  We -- we have a form, a declaration form that they have to sign.


MS. GIRVAN:  Okay.


MR. ANDRE:  You know, at the outset when service is initially established.


MS. GIRVAN:  But it is just when it is established?


MR. ANDRE:  That's right.


MS. GIRVAN:  It is not if something changes?


MR. ANDRE:  That's right.  Unless a seasonal customer -- something changes would be if a seasonal customer -- if they were at a seasonal property getting a seasonal bill, and now they have sold their primary residence wherever and are living at their cottage full time, then they would resubmit that form and say:  Oh, wait I am no longer -- this is no longer a seasonal property.  Here is the form that demonstrates that I am now a year-round residential customer at this property; in which case that property would go to either the R1 or R2 class, depending on where it is located.


MR. CHESHIRE:  Henry, just a follow-up question on that exact point, because I do know, you know, things are different in 2014 than they were 60 years ago when some of these rules were written.


And I do know of R2 properties where seasonals have bought the property and there was no check, and so, you know, fortunately they're getting the, you know, they're getting the rural rate protection plan.


So my question is, what do you do to ensure -- as Julie has indicated -- that, in fact, the people are properly classified.  Because it is a significant amount of money.


[Witness panel confers.]

MR. ADAMS:  If I may chime in as well.  I think from a customer-service point of view and the call centre that it is usually the interaction point for a move-in -- we will call that a move-in -- where somebody -- a seasonal customer has moved into a previously-classified residential R2, let's say, property.


I think the -- we would rely on the onus on that party to let us -- because we will go through the process of establishing the account and verify who would have accountability for the account and those types of things.


We would -- the person would recognize that the property was previously residential, and that would be the default position.


And then throughout the interaction, if we ascertain that that person moving in is intending it to be used for a seasonal purpose, we would then change the rate to a seasonal.


Further, because of our -- the system that we have implemented, our new system that went live last year, the structure of the new system has the notion of a, what we call a business partner.


So when we're establishing an account we will look to see whether or not that party has any other accounts with Hydro One, and if we would recognize that they have also a residential property, we would then be asking questions on whether or not this is a second residence or if it is a seasonal property, that kind of thing, because we would have some visibility to maybe some other accounts that they would have.
Questions by Mr. Cheshire:


MR. CHESHIRE:  And just one last follow-up to Ms. Girvan's question.  If in fact you are not prepared to use that proxy, that 9,600 proxy, consumption proxy, for eight months of residential in the reg for other classes, then how is that good policy-making?


In other words, I mean, if 9,600 is a definition of eight months' residency, should that not apply across the residential classes?  All the residential classes?


MR. ANDRE:  No.  Well, you keep mentioning 9,600, and just to be clear, for those 11,000 we would be talking about 600 kilowatt-hours for at least ten months of the year in the 9,600 --


MR. CHESHIRE:  I realize that, yeah --


MR. ANDRE:  Yeah, and I think in the first technical conference I made it very clear that that was a compromise position by Hydro One to attempt to deal with the various feedback we received on both sides of the seasonal customer issue, through the various stakeholdering that we have.


So it was specifically related just to that proposal of moving 11,000.  There was no intent to add to the definition in the regulation.
Questions by Ms. Lea:


MS. LEA:  I wonder if I could follow up with a couple of questions as well.


Do I understand correctly -- and pardon me if I have misunderstood -- that a seasonal customer of Hydro One, if they decide to retire at the cottage, for example, and are now going to occupy it at least eight months of the year, they can call up Hydro One, sign a declaration, and be transferred to a different class?


MR. ADAMS:  Yes, that's correct, absolutely.


MS. LEA:  All right.  And for the proposal that you are making to shift customers to the R2 class, and you are proposing that those customers receive now the rural rate-protection amount, do you have any -- perhaps you can summarize for me the evidence that you have on the record that would demonstrate that the consumption is a relatively valid proxy for occupation, which is what is in the regulation.


I ask, of course, because, being counsel to the Board, I no doubt will be asked.


MR. HARPER:  You will be asked.  I believe I can -- I hear you whispering.  There was a VECC IR asking precisely that question, if you wanted to look up the response to that.


MR. ANDRE:  Thank you, Bill.  So there is a VECC IR that asks, you know, how did you come up with 9,600 and 600 for ten months of the year, and it really -- well, actually, Stan, perhaps you can --


MR. BUT:  So that basically is based on the analysis using the billing data that -- based on the analysis, the moves of the residential customers, year-round residential customer exhibit that energy consumption profile.


MS. LEA:  So it is a pattern of consumption, as opposed to a total amount of consumption that is looked at?


MR. BUT:  So we take into consideration the occupancy that -- the scenario that we selected is you have to be there for at least ten months.  And the minimum consumption is 600 kilowatt-hours, and on average for the year, divided -- the total consumption divide by 12 is 800 --


MR. CHESHIRE:  9,600.  For the year.


MR. BUT:  For the year.  So 800 times 12 is 9,600 per year.


MS. LEA:  But you do look at the pattern of when that consumption is consumed.


MR. BUT:  Yes.


MS. LEA:  Okay.  And I would like to have the number of that IR, whether you can produce it now or you want to tell us later in the day.


MR. HARPER:  It is number 93.


MS. LEA:  93, thank you, and that is obviously under this same issue.  Thank you, thank you very much.  Thank you.


MS. GIRVAN:  Could I just ask a follow-up question, I'm sorry.


When we were talking about getting further information with respect to the consumption and the rates, I think what is relevant is to see the impact alone of moving the seasonal customers into R1 and R2.  And from my perspective, I think you would get that by comparing 2015 "proposed" by Hydro One, and then 2015, assuming that those customers are moved into the other classes.


And I think the rates -- that's relevant because we will see the impact of that change alone versus the comparison between '14 and '15 which is relevant too, but I think I would like to see the 2015.


So you've got a proposal.  Someone else might have another proposal, and we would like to see which is moving those customers into R1 and R2, and we would like to see the impact on the rates of that change, and the bills.


MR. ROGERS:  Can that be done relatively conveniently?


MR. ANDRE:  Yes.  All of the numbers required to do that are actually available in the evidence.  I wish I had --


MS. GIRVAN:  They are.  I --


MR. ANDRE:  -- all of the specific references, because then I could just say if you go to this reference, that reference --


MS. GIRVAN:  You know --


MR. ANDRE:  -- but I think for convenience --


MR. ROGERS:  Yes, yes.


MR. ANDRE:  -- we can pull that together --


MR. ROGERS:  We'll do that --


MS. GIRVAN:  This is a -- I think this is a very important issue to a lot of people, and I think it's --


MR. ROGERS:  We have already agreed.


MS. GIRVAN:  Okay.  We want it clearly on the record what the impact of these changes are.  Thank you.


MR. ANDRE:  So to be clear then, we would be comparing seasonal 2015 as proposed in the pre-filed evidence --


MS. GIRVAN:  So all the rate classes.  If we go back to this chart in Board Staff 7.02, 94.


MR. ANDRE:  7. -- say again the reference, please?


MS. GIRVAN:  7.02, Board Staff 94.


MR. ANDRE:  Right.  Yes.


MS. GIRVAN:  And it could be in addition to the previous undertaking by just -- or we could do a separate undertaking, but --


MS. LEA:  I would prefer to keep it separate.


MS. GIRVAN:  Okay.  So what I am looking at is the rates proposed and the changes to the rates, assuming the seasonal customers are moved to R1 and R2.


MR. ANDRE:  Okay.  So --


MS. GIRVAN:  For all rate classes.


MR. ANDRE:  Right.  So Ms. Girvan, in that Board Staff 94, attachment 2 is a rate design sheet that has the fixed and variable rates under this scenario where all rate classes are --


MS. GIRVAN:  I would just like a table to show the change.


MR. ANDRE:  Sure.  But just so you know, there would be a similar table.  There is an exactly identical table that shows the 2015 as proposed in the evidence, and it's -- you're saying can we compare those -- have a separate table that compares --


MS. GIRVAN:  Yes.


MR. ANDRE:  -- those rates?


MS. GIRVAN:  Thanks.


MR. ANDRE:  Yes.


MS. LEA:  TCJ2.2, comparison table.

UNDERTAKING NO. TCJ2.2:  to provide a COMPARISON TABLE BETWEEN 2015 AS PROPOSED WITH 2015 UNDER THE SCENARIO IN BOARD STAFF 94.


MR. ANDRE:  Between 2015 as proposed with 2015 under the scenario in Board Staff 94.


MS. LEA:  Yes.  Thank you.  Does that complete the questions of the...


MS. GIRVAN:  That's all I have.


MS. LEA:  Okay.  Thank you.


Who else has questions today?  Yes.  I see Roger and I see Shelley.  So who wishes to -- sorry, do you have another question, sir?


MR. CHESHIRE:  No.  When we get --


MS. LEA:  Use your mic.  You will have more questions?  I understand.


MR. CHESHIRE:  Yes.


MS. LEA: Does anybody have a burning desire to go, or shall we ask Mr. Cheshire to continue with his questions with respect to customers in general?  Yes.  Thank you.


Mr. Cheshire, if you wouldn't mind continuing, that would be great.


There we are.


MR. CHESHIRE:  It falls under many interrogatories, but it is issue 2.1.  So let's look at Exhibit I, tab 2.01, OEB Staff No. 8.


The issue is:

"Does Hydro One Distribution's custom application adequately consider customer feedback and preferences?"


Just as a background, again, after the last rate application, Hydro One agreed to do a lot of customer conference and input in terms of this whole seasonal rate issue.


I want to ask, again, Mr. Andre, does he feel with 250,000 cottagers in Ontario, that the 38 seasonals that showed up last year at a very hurried and not well done customer input system adequately -- adequately do what is identified in issue 2.1 for seasonal people?


MR. ANDRE:  There is an interrogatory response -- and Ms. Girvan, perhaps you -- it was a CCC question.  I don't have --


MR. CHESHIRE:  It is a little further.


MR. ANDRE:  And she asked that very question.  And if I recollect, the response to that was that it wasn't just the focus groups, the seven focus groups with the 38 participants.  There were a number of stakeholder sessions at which seasonal customers participated, as well as other -- as well as other intervenors.


And there is also feedback that we get through -- there's two sources that I quoted, David.


We have the call centre escalations.  So we do get quite a bit of calls from seasonal customers, and so we're familiar with the types of issues they have through that -- escalated calls that come through the customer call centre.


And then we have the benchmarking survey; is that correct, David?  That also includes seasonal customers.


MR. ADAMS:  That's correct.


MR. ROGERS:  Is there an interrogatory answer on this?  Can we find it?


MR. ANDRE:  Yes, there is.  I know it was a CCC question.


MR. CHESHIRE:  Yes, it was a CC -- let me just see.


MR. ANDRE:  1.9.


MS. FRANK:  2.9.


MR. ANDRE:  Yes, okay.  Let me see.  Oh, 2.9?  CCC 29, yes, but do you know the -- do you know what issue that was?


MS. GIRVAN:  7.2.


MR. ANDRE:  7.2.  Perfect.  Let me just confirm if that is the one I was thinking of.


Yes.  That is the one.  So it is 7.02, schedule 10, CCC 29.


MR. CHESHIRE:  Right.


MR. ANDRE:  And I think that certainly summarizes the various sources of input that we had available in order to make our proposal.


MR. CHESHIRE:  Understand.  Just as an officer and director of the Federation of Ontario Cottagers' Associations, if you go to the website, it makes it very clear, in no uncertain terms, what the view is of that organization in terms of that 38-person response.


It was not adequate, in our view.


MR. ROGERS:  You know, Ms. Lea, this is a technical conference.  We're going to get off track here.  I don't want to keep interfering.  Statements are being made and I know people feel strongly about this, but I just don't want them to go unchallenged.  And I don't want to clutter up the record.


So can we just stick to technical questions?  We understand people feel strongly about this and there will be an opportunity to make an argument before the Board and the Board will make a decision.


MS. LEA:  Thanks, Mr. Rogers.  Yes, we're all here to get information today as opposed to make argument.  And I am sure everybody recognizes that.  Thank you.


I am afraid Board Staff was slightly guilty of that yesterday as well.


Anything further, Mr. Cheshire, at this time?


All right.  Board Staff has a few questions that I can proceed with.  Is there someone who wishes to go ahead now?


All right.  I will go ahead with a few questions and then we will take a break at about 11:00 o'clock.

I also wanted to look at Board Staff No. 8.  So that is Exhibit I, tab 2.01, schedule 1, Staff Interrogatory 8.


These questions were provided to you in advance on Friday, so I expect that Mr. Adams probably has some answers to them.


So looking at this, the response to interrogatory, it is the second paragraph.  Can you please distinguish customer experience from customer service?  Perhaps you have made this clear, but I need to understand what customer experience is, as opposed to customer service.


MR. ADAMS:  Thank you.  Yes.


In the reference made to that answer to Interrogatory 8, the reference to customer service was referring more to the actual OM&A exhibit and area of evidence related to the customer service operation and function, and the services that are provided to customers through things like the call centre and billing and things, as opposed to customer experience being the corporate strategic initiative around focussing on our customers, learning and acting on their needs.


MS. LEA:  Okay.  So can you give me an example of what would be included in customer experience?  Like a more -- a very concrete example of what would be included in customer experience that would not be included as part of customer service.


MR. ADAMS:  Sure.  So some examples of what would be included in customer experience would be things like advanced segmentation analysis around our customer base, so that we may look at things like tailoring messages to various different types of customers that we serve, as opposed to a generic message, for example, that we might use when we're informing people of CDM programs.


It would also include things like pilot programs of various initiatives that we would want to trial with a smaller group of customers, to see if things resonate with them.


For example, it might be expanding our services on our web to include opting-into notifications and alerts.  So we may want to then have the customer experience group come up with some scenarios, test those scenarios with customers before we invest a lot of money or roll anything out.


MS. LEA:  Have you attempted to quantify the benefits to customers from customer experience initiatives that are not part of customer service?


MR. ADAMS:  I am just thinking.  I can't think of any specific areas, although I am sure there might be some.


MS. LEA:  Has --


MR. ADAMS:  From a customer experience -– sorry to --


MS. LEA:  Sorry, go ahead.


MR. ADAMS:  From a customer experience initiative perspective, I think what we're looking to do is have a framework for the company to work under where we would better understand customer needs, develop a roadmap of initiatives; for example, reviewing policies or processes or implementing solutions such as a mobile "my account" type experience.  And then ultimately looking to satisfy customers in those experiences such that our overall satisfaction levels through customers, through the research that we do, are improving in specific areas such as satisfaction with the way that we communicate around unplanned outages or satisfaction with their ability to access Hydro One, those types of things.


MS. LEA:  You will fully understand, I'm sure, that the reason I ask for some quantification attempt of the benefits of customer experience is that customer experience spending is increasing significantly, but customer service spending is actually decreasing over the five-year period of the plan.


I am a Hydro One customer.  What would you tell customers about the benefit that they will see from the increased cost in customer experience, if there is no quantification of it?


MR. ADAMS:  That benefit would be realized and demonstrated through their experiences going forward, through the term, through this five-year term, through the implementation of some of these initiatives.


So, for example, the intent would be to have fuller interactions when, for example, we establish an account so that customers are taking advantage or have better information about different services you might offer, such as e-billing or pre-authorized payment, that they're also tailoring scripts based on the customer interaction to inform them -- better inform them around CDM programs that they could take advantage of.


So it is really from an experience point of view that their experience with Hydro One is such that it is more informative, easier to do business with Hydro One, and ultimately, over the long-term, as these initiatives are rolled out, we can envision in the future, for example, interactions with the call centre made to client as a result of some of these initiatives, where they may be using alternate channels, or the experience they have with billing may be better.


Then ultimately we can leverage those fewer interactions when we go to RFP, for example, for outsourcing services around the call centre.


MS. LEA:  Thank you.


You mentioned in this interrogatory as well that you are planning to increase activities centred on your customers' preferences.


Did your customers express a preference for self-service capabilities, which is one of the other things that you mentioned in that interrogatory?


MR. ADAMS:  Yes, thank you.  I think that -- a couple of points to make here.  One, the adoption of self-service channels, for example, things like signing up to our Web-based "my account" service or those types of things has seen a significant increase over time with those technologies.  So for --


MS. LEA:  So people are taking them up, is what you're saying.


MR. ADAMS:  People are taking them up.  And certainly from an industry point of view and just sort of listening to what has happened in the industry, across-the-board service industries are seeing a migration to some of these more self-serve, the way I want to access my service provider when I want to access them in the way I want to access them.


So it is about options and choice and providing those tools to our customers.  So for example, we have 230,000 subscribers to our Web-based "my account" service.  We have an outage app I think you may be familiar with, where customers can download to their smart phone and get information about outages.  Cottagers love that, for example.


We have 190,000 downloads.  So we're seeing some significant interest in these types of solutions, and we see that as a really important development as we progress as Hydro One, but also as our customers are more and more interested in those solutions.


MS. LEA:  Okay, thank you.


The increase -- I was wondering what was allowing you to decrease your spending on customer service over the term of the plan.  I was wondering whether self-service was one of those aspects.  Perhaps you could outline for me what allows you to decrease your costs in customer service?


MR. ADAMS:  A couple of areas, not the least of which is -- two primary areas.  One is the benefits of the CIS solution that was implemented last year, and throughout that implementation we had anticipated a number of benefits and anticipated a number of benefits on things like call-volume reductions, back-office exception-type reductions, reduced handle time of calls, just because of the solution that we're presenting in front of our agents and representatives.


And then the -- secondly, going to market again, which we're in the process of doing, to RFP our outsource services around contact handling, billing, collections, those types of things.  We envision deriving some benefits through that, so it is a combination of things when you go to market, so we're showing -- we had anticipated showing a decrease of certain areas that the market would use to price their solutions and see a benefit.


And then from a solution perspective itself things like some different collections-type information that we have that will avoid moving certain debt into an arrears situation, because we can now move outstanding arrears between accounts when somebody moves, for example, where we used to do final bills, so there is a lot of different calculations.  Those are the primary areas.


And then, of course, migration to self-serve over time does have a positive impact on the higher cost to serve call centre, for example, interactions.


MS. LEA:  Thank you.


Yesterday there were two areas that panel 1 suggested that I ask you about.  One of them dealt with what kind of messaging you could provide to customers to demonstrate the value that they may be receiving in this rate application.


As you know, the Board is concerned about customers understanding the value that they receive from their utility.  And in this particular application that you have before us, you are proposing to embed in your application any productivity savings that come into the O&M side, the capital side, that kind of thing.


And Board Staff was trying to think of whether there was any point and how it might be done to tell customers about that.  Customers' rates are going to rise over this period if your application is accepted, but Hydro One's position, as I understand it, is that the rates would be a lot higher were there not productivity savings embedded into this application.


Is there any way to help customers understand that value that Hydro One believes it is bringing through productivity savings?


MR. ADAMS:  It is a complicated endeavour, I think, and, having listened to yesterday, I tend to agree that I think our communications will centre more around value; in other words, what types of things is Hydro One investing in and why, to understand the rate impact itself and why that is important to us and try to speak more to the value of those investments for our customers.


I think it can start to get -- A, it may not resonate well; and B, it can get very complicated in terms of an overall message when we try to -- but it could have been higher.


However, I think there is a couple of areas.  This process and form itself is a way of, I think, getting on record those productivities and those cost-saving efforts that Hydro One is striving to make every day.


And further, I think there is an opportunity as we move along -- maybe not so much as part of the actual rate decision communication -- but as we move forward to ensure that our quarterly newsletters to our customers and other things that we're providing, other information sources we're providing to our customers, do focus on some of those things that we have been doing to curtail costs or add value is, I think, a strategic way to handle it.


MS. LEA:  Okay, thanks.


The second item that I asked about yesterday had to do with an AMPCO interrogatory.  It was in issue 2.2, so it is tab 2.02, schedule 14, AMPCO No. 10.  And we were filling in the actual quantified targets for some of the proposed outcomes.


And the last one in that list is estimated bills.  And I asked whether the actual target -- the goal is to reduce the percentage of estimated bills during the five-year plan.  But it appeared to us from the evidence in Exhibit A, tab 4, schedule 4 that the actual number would be 3.5 percent by year 5.


Can you address that?


MR. ADAMS:  I am not sure I understand what the question is, but I can confirm that that -- if you go to, as you pointed out, Exhibit A, tab 4, schedule 4, page 16 on table 8, it does outline the percentage of estimated bills that we anticipate by the end of the five-year term, and as you state it is 3.5 percent.


MS. LEA:  And --


MR. ADAMS:  Is that what you're asking, I'm sorry.


MS. LEA:  Yes, I just wanted confirmation that that is the metric that Hydro One is committing to -- committing itself to as part of this plan.


MR. ADAMS:  That's correct.


MS. LEA:  Okay.  One moment, please.


Those are the questions that Staff had prepared for this panel.  We, of course, would -- we may have others that come up over the course of the morning, but that is it for now.


And if no one objects, I would propose to take a 15-minute break and return as 11:20.  Is that acceptable to all?  Thank you.


--- Recess taken at 11:05 a.m.

--- On resuming at 11:27 a.m.
Procedural Matters:


MS. LEA:  All right.  I wonder if we could begin again.  And who has questions for the witnesses at this time?


MR. ROGERS:  Just before we begin, Ms. Lea, can I just say for the record that the two benchmarking studies which were submitted this morning can be given the designation of an answer to EP -- it is issue 2.6, Energy Probe Interrogatory 23.  This is an amended answer to that interrogatory.


MS. LEA:  So I have three bundles in front of me.  One is entitled:  "Customer Satisfaction Tracking."


MR. ROGERS:  Yes, that is part of it.  And there is a second one as well.


MS. LEA:  All right.  So then I have a:  "Canadian Residential Benchmarking Study."


And then I have "Benchmarking Study Report with Inergi, Hydro One Networks Inergi Agreement."


MR. ROGERS:  No.  That is the one that we had the debate about yesterday.


MS. LEA:  All right.


MR. ROGERS:  There are two customer satisfaction surveys, which you should have there, and if not, we will get you a copy.


MS. LEA:  And they're part of Energy Probe, which interrogatory?


MR. ROGERS:  23.


MS. LEA:  23?  Thank you.


MR. ROGERS:  These will be served electronically.


MS. LEA:  Yes.  When you serve them electronically, please indicate exactly what exhibit it is or what it pertains to.


MR. ROGERS:  It's going to be an amended answer to EP 23.


MS. LEA:  Great.  And also -- great.  And also the electronic copies from whatever was handed out this morning.


MR. ROGERS:  Thank you.


MS. LEA:  I missed one of the attachments to Exhibit K1.1, and that was -- there was a pole replacement one, as well as the ones that I have already listed.


And those need to be filed electronically as well, if they have not been already.


So perhaps at the end of the day Hydro One and Board Staff could just go through and make sure we've got everything we need.


MR. ROGERS:  That's right.


MS. LEA:  That is probably easier than taking up time.  Thank you.


MR. ROGERS:  Yes, thanks.


MS. LEA:  Roger Higgin has...


Oh, sir, I'm sorry, your mic is not on.

Questions by Mr. Yauch:


MR. YAUCH:  Question about housing forecasts.  The interrogatory is tab 6.06, schedule 11, Energy Probe 50.


So we asked –- I'll just wait for you...


MR. BUT:  Yes, I've got it.


MR. YAUCH:  We asked:

"What is the risk to Hydro One's load and new customer forecasts if housing starts fell to 60,000 or 50,000 per year?"


You responded -- you gave the change in energy consumption and the change of the forecast.


Now, we were wondering if such a change, if it fell to 50,000 or 60,000 housing starts a year, is that material to Hydro One's revenue outlook, and if something like this would be considered an external off-ramp, that if there is a giant economic force like this that affects power consumption, does this have a material impact on the company?


MR. BUT:  This would not have any material impact to Hydro One revenue base.


MR. YAUCH:  Would you come in annually and kind of update these forecasts if something like this -- over the five years?  Or do you -- you've stuck to this?


MR. BUT:  We would not -- we are not proposing to come in and update the forecast on an annual basis.


MR. YAUCH:  So under the situation that there is some sort of recession or housing starts do fall, how do you -- you just stay the course?  Nothing changes?


MR. BUT:  Yes.


MR. YAUCH:  Okay.  That's it.  Thank you.

Questions by Dr. Higgin:


DR. HIGGIN:  We have another question here.  I am going to leave one question -- my questions on the CDM and the load forecast for Mr. Harper, who I have worked with for many so many years.  He is the best man to do this stuff.  So if he doesn't ask it, I will come back.


MS. LEA:  Thank you.  Very wise decision.


DR. HIGGIN:  I will leave that to him.


MS. LEA:  Thank you.


DR. HIGGIN:  So having said that, I would like you to pick up one of our IRs, which is I, tab 7.02, schedule 11, and it is Energy Probe 53.


Okay.  And the basic subject of this, there's two elements to this.  One is:  Where does this fit within the framework you proposed for annual adjustments, out of normal course and disasters -- I will call them -- the three main topics that you set?  Where would a change to the rate design -- such as the Board is considering right now with respect to moving to a fixed charge over a period for some or all of the rate classes.


We don't know the details yet.  You are aware of it.  You made an extensive submission, actually opposing the change.


So what would happen if this happened?  Where would it fit?  And how would you accommodate this in the annual process for a rate order?


It could be a major, major change to rates.


MR. ANDRE:  So the proposal that the Board has clearly wouldn't change the revenue requirement.


DR. HIGGIN:  No.  Absolutely not.


MR. ANDRE:  So the pot of money to be collected from each class would remain the same.  Barring, you know -- assuming all other things stay equal.


But this proposal wouldn't change that, so what the Board's proposal would say:  So you have a pot of money in your prefiled evidence or what rates are approved right now.  You are collecting some of that via fixed, some of that via variable.


The -- if they were to go with a fixed-charge proposal, the calculation is actually relatively simple.  You have the pot of money.  You know the number of customers.  They're there for 12 months.


So I would see it as it wouldn't fall under any of the adjustments per se, because you're not changing your revenue requirement.  It would be part of that annual process of saying:  Well, here's the revised rate schedule where it is just based on a simple fixed charge.


And I guess you would have to demonstrate that those revised rates would collect the revenue requirement that has been approved for each rate class.  So you would have to demonstrate that.


But it would essentially be a revised rate schedule that would get submitted as part of the annual process.


DR. HIGGIN:  I understand that from the distributor's perspective.


What I am asking is from a ratepayer point of view, that would be a major impact when you have a five-year plan with a 6.3 percent annual average increase per year in rates.  This would sort of turn that thing on its head; is that not the case?


MR. ANDRE:  Yes, I mean, you know, the comment I would offer is the Board is aware that we have a five-year application.  They're aware of our proposal.  We would expect that they would have thought through the implication of making a change like this to all utilities under the various scenarios that they have, the ones that are currently under IRM, the ones that are currently proposing a five-year cost of service.


So we would expect some direction from the Board with respect to what to do --


DR. HIGGIN:  Well, the ultimate -- where we're going is it could even be as big as an equivalent of an off-ramp.  Not the 300 basis points, but it could be so material that it might cause you to reset the plan.


Would that be a potential?


MR. ANDRE:  No.  Like I said, I don't see it -- it wouldn't impact the revenue requirement, so I am not sure that we would revisit resetting the plan.  Not -- I'm not sure.  We wouldn't revisit resetting the plan.


DR. HIGGIN:  Okay.  Thank you.  We have your answer on that one.  Thank you very much.


So I think that is for now for us, Jennifer.  As I said, I have some questions on the -- on CDM, but I will let Mr. Harper do his thing on that.  Thank you.


MS. LEA:  Thank you.


Oh, did you wish -- Shelley, did you wish to...

Questions by Ms. Grice:


MS. GRICE:  I have one question just on the fixed-variable split, so I thought it sort of fits to do it now.


If we can turn to Exhibit G1, tab 4, schedule 1, page 5, there is a table 3 there that shows all of the current and proposed fixed and volumetric revenue splits.


MR. ANDRE:  Just wait until it comes up on the screen.


MS. GRICE:  Sure.


MR. ANDRE:  So G1, tab 4?


MS. GRICE:  Schedule 1, page 5, table 3.  That's it.


MR. ANDRE:  Okay.


MS. GRICE:  So I just note that for a lot of the rate classes, the proposed fixed rate is increasing starting in 2015.  And there are some outliers, and one of the outliers is the sub-transmission class, where the fixed rate is slightly decreasing in 2015.


My question was just around what -- if you could just summarize any discussions that took place with the sub-transmission class and that customer's preference for the percentage of fixed -- of the rate that is fixed compared to volumetric, if there is any discussions that took place there that you could share.


MR. ANDRE:  So let me start, and then I will pass it to David to see if he is aware of any discussions with that customer group in particular.


But the percentages that you see in that chart, Mrs. Grice -- or Ms. Grice, rather, are based on the output of the cost allocation model.  So the cost allocation model does a calculation of what it believes would be the appropriate fixed charge, if you want to include the recovery of some minimum system costs in the fixed charge, and that's the option that we have chosen.  And that sets the fixed charge that you should levy.


And once you have that fixed charge, then that determines -- based on the number of customers -- that determines the volume or the percentage of revenue that will be collected via the fixed charge.


So those percentages are based on using the fixed-charge value that comes out of the model.  To the extent that it drops, it means that the current fixed charges that we were levying for the ST were perhaps a little bit higher than what the model would suggest.


So we're trying to be consistent and use the output of the cost allocation model as the basis for all of our fixed charges.  So that is why you see slightly differing approaches to the various classes.


Now, but -- so -- from my standpoint it wasn't based on discussion with individual customers as to what charge they would like to see, but I don't know if there have been any discussions about fixed and variable rates.


MR. ADAMS:  I am not aware of any discussions.


MS. GRICE:  Okay.  And so beyond 2019 at this point there are no plans to increase that fixed portion outside of what the cost allocation model determines?


MR. ANDRE:  So at that point we would want to rerun the model based on an updated set of load profiles and load forecasts, based on, you know, actual experience.  So we would rerun the model, Ms. Grice, and again continue with the same approach of using the values that come from the model.  Whether it be higher or lower would depend on the inputs at that point in time.


MS. GRICE:  Okay, thank you.


Now, I just have one more question that Mark Rubenstein wanted to ask, so I will just ask it on behalf of Schools.  And the reference is issue 2.6, Staff No. 36.  I believe in this interrogatory the response was that Hydro One is using the Global Insight forecast, the Q4 2012 version for construction and O&M cost escalators.


And the question is, what would be the revenue-requirement impact if Hydro One used the latest Global Insight forecast, which would be Q1 of 2014?


MR. BUT:  Thank you for the questions yesterday, and I believe this question was asked yesterday.


MS. GRICE:  Oh, yes, that's right.


MR. BUT:  Obviously this question requires a lot of time and potentially weeks to do the calculation, but I can offer you a quick answer.


I did compare the Global Insight forecast for cost escalations and for inflations and all that.  For Ontario CPI, in table 2 of Exhibit A16-1, for example, the Ontario CPI forecast, as we filed originally using 2013 forecast, as it compared to the latest forecast released by Global Insight for the forecast year 2015 to '19, they're exactly the same, 2 percent per year.  I think this is consistent with the Bank of Canada guidance, so this is the same forecast.


And I also looked at the -- before I go to the construction and the OM&A power plan forecast, I also want to mention in terms of exchange rate forecast, I did the comparison as well with what we filed as what we have with the latest.


There are -- take the average of the 2014 to 2019, the difference is .3 percent.  And so they are essentially the same.


Now, going to your -- the forecast with respect to the cost escalation for constructions and cost escalation for OM&A, I did a similar comparison of the forecast we provided in the file for January 2013 and compared to the latest forecast that was released by Global Insight.


And I take the average, combining constructions and OM&A and the -- again using the same methodology I mentioned earlier, taking the average of the 2014-2019, yes, there is minor changes from year to year.  But taking the overall average for the entire period, the pre-filed forecast is 2.3 percent and the latest forecast is 2.2 percent.


Essentially they are almost the same.  And so based on -- based on this comparison I just mentioned, I believe the implication on revenue requirement is immaterial.


MS. GRICE:  Can you give a percentage "immaterial", just...


MR. BUT:  We haven't -- as I said at the beginning, we have not done the analysis because it would take weeks to do the analysis.  But given the evidence I just quoted, the CPI forecasts which accounts for about 50 percent of the labour cost, including the energy costs, about 50 percent, and in terms of the other things relating to material, as I used the OM&A forecast from the power plan, and there is no -- not much difference, and the material costs, in terms of revenue requirement, accounts for about 25 percent.


So based on the information, just doing the calculation we are talking about already, 75 percent of the total revenue base and essentially the forecast as we filed in 2013 in the pre-file, as compared to latest forecast from Global Insight, they're almost exactly the same, and that is the reason why I can say the implication on the revenue requirement would be immaterial.


MS. GRICE:  Okay, thank you.


MS. LEA:  Mr. Harper, do you want to ask questions?

Questions by Mr. Harper:


MR. HARPER:  I am tongue-tied after the previous comments, but I will try my best.


MS. LEA:  Well, you know, you ask questions of Stan But and you will get an answer.


MR. HARPER:  No, I mean Mr. Higgin's comments.


[Laughter]


MS. LEA:  Oh, okay.


DR. HIGGIN:  I expected...


MR. HARPER:  Actually, they are mainly a mix of load forecast and cost allocation questions, and I will just go through them in the order -- the questions were pre-filed with the company last -- on the 17th, and I will just go through them in the order.  Some of them have been talked to a bit already, and we will probably gloss over those parts when we come to them.


My first question is under issue 1.2, and the reference is -- well, Exhibit I, tab 1.02, schedule 6, VECC 8(b).  And I will just...


Here in the original question we observed that in your updated transformer PLCC calculation the number of transformers hadn't changed from 2010 to the update using 2012 data.


We asked about this, and you acknowledged the fact that actually the number of transformers had increased and that in doing the calculation, while you'd updated the customer numbers, you hadn't updated the transformer numbers.


Just going forward, we think, going forward from this point in this application, is there any reason why it wouldn't be appropriate in this calculation to update the transformer numbers as well?


MR. ANDRE:  Yeah, Mr. Harper, so in our original pre-filed certainly we were asked to look at the PLCC conductor value, and updating that value we came up with new numbers for the conductor length and new numbers for the number of customers.


So those were two new numbers that were available.  Since we had a new number of customers' number available we thought, okay, let's use that in the PLCC transformer calculation as well.


It didn't occur to us to -- so I think we're being consistent that we had a new number, and wherever that number was being used, such as the PLCC transformer calculation, we used that new number.


Certainly I agree that there is -- there is a new number of transformers available as well, and certainly that could be updated if the Board felt that that would be a more appropriate number.


Your part (b) question asked what the change would be, so right now in our filing the number, the PLCC transformer number, is 2,875.


If we used the new number of transformers, that number would change to 2,939.  And --


MR. HARPER:  Thank you.


I guess my specific question to you was you mentioned the Board, if it thought it was appropriate.  Is there any reason why you think it would be inappropriate to make the change and have an apples-to-apples comparison using 2012 data?


MR. ANDRE:  I guess I was going to say I would want to see the impacts to the cost allocation, but really the impacts are going to be the impacts.


So yeah.  No, I wouldn't see any reason that it wouldn't be appropriate to do that.


MR. HARPER:  Okay.  Fine.  Thank you.


My next question was staying with the same issue, 1.2, and actually the interrogatory -- the response to VECC 16(a) and VECC 17(a), and that is found at tab 1.02, schedule 6.


And just as a preamble to this -- and you can turn it up if you like, but I think it is fairly obvious -- in VECC 86 we asked for how the terminology for CDM, the non-target programs for 2005 to 2009 terminology that was used in schedule 3 on Exhibit A, tab 16 compared to the terminology used in tab 4 of the same schedule, where you were using a different terminology, "historical program persistence," 2006 through 2010.


And the answer to VECC 86, you said they were equivalent.  The non-target programs talked about in schedule 3 were the same as the historical program persistence values talked about in schedule 4.


So on that basis, when I turn to VECC 16(a) and 17(a) and I look at, let's say, the savings in -- the savings in 2015 attributed to these programs, and 16(a) has a value of 60.5, 17 has a value of 240.5, and this is for OPA programs and Hydro One programs, which, together, are supposed to total all of the non-target programs for that period, that number doesn't reconcile with the value you have in schedule 4, which is 335 gigawatt-hours.


I was wondering if you could reconcile the difference between the two.


I know it's -- this inconsistency appears in every one of the four years.  I am just hoping if you can reconcile one year it will help.  Hopefully the same explanation will apply for the other years as well.


MR. BUT:  Mr. Harper, in the question for VECC 16, did we not -- in response to (b), did we not give a demonstration of that reconciliation already?


MR. HARPER:  All I am doing is I'm taking the -- if you go to 16(a)?


MR. BUT:  Yes.


MR. HARPER:  Under -- this is for the Hydro One non-targeted programs, and for 2015 you have a total savings associated with those programs of 60.5 gigawatt hours; correct?


MR. BUT:  60.5.  Yes, I see that.


MR. HARPER:  If I go to 17(a) and look at 2015, I have a total of 240.5?


MR. BUT:  Yes.


MR. HARPER:  When I add those two together, I get 301?


MR. BUT:  Yes.


MR. HARPER:  And if I go to –- now, if we turn up -- go back to your application and look at schedule A.  Excuse me, Exhibit A, tab 16, schedule 4, page 5.


MR. BUT:  Page 5?


MR. HARPER:  And I look here under the line "Historical program persistence," which is as -- according to VECC 86 is supposed to be this -- exactly the same as the non-targeted programs.  I have a number of 335 as opposed to 301.


That's all I am trying to get, is a reconciliation for those two.


MR. BUT:  In a lot of the...


Bill, is this the technical Question No. 2?


MR. HARPER:  Yes.


MR. BUT:  Yes.  I have a handout for you.


MR. HARPER:  Thank you.


-- Ms. Frank and Ms. Lea pass out document to


intervenors.


MS. LEA:  The handout will be Exhibit TCK2.3.  Can somebody provide me with a brief title or description?

EXHIBIT NO. TCK2.3:  RECONCILIATION OF 2015 SAVINGS.


MR. BUT:  Bill, correct me if I'm wrong.  This is a reconciliation of the savings in 2015?


MR. HARPER:  Right.  And what you seem to be attributing it to is something to do with the half-year rule?


MR. BUT:  Right.  And that is -- the answer to your question is a very short answer.  And we are using a half-year rule.


And in -- as I handed out in -- to you now, you can see that the calculations is -- if you use the half-year rule for the annualized number for 2014 and use the half-year rule for the 2015, you will get the same number, 335.


MR. HARPER:  I am just trying to understand the annualized savings in 2015 you have here of 301, which is the number I was quoting to you, those are annualized savings from programs relate to 2005 to --


MR. BUT:  Exactly.  Those are annualized savings.


MR. HARPER:  Right.  And we're talking about 2015, so an annual savings -- I don't understand how the half-year rule is applicable for a year that is five years after any of these programs have been in place.


MR. BUT:  Because for 2015 because we are counting -- because of the half-year rule, we are only counting half of the savings for 2015, plus the persistence of the half-year rule from 2014.  And that is the reason why, for load forecasting purposes, we have applied the half-year rule.  We are taking into consideration of 2014 and '15.


MR. HARPER:  Yes.  But none of these savings -- these savings we're talking about are all related to programs whose last year of implementation was 2010.


So therefore I don't understand why the half-year rule would apply at all, in any context, for any of these programs.  After 2010, it's the annualized values for every program going forward after that.


The half-year rule applies in the first year of implementation because not all programs are implemented January 1 of the year.  After the program has been implemented for a year, it's annualized savings from that point forward, if I am not mistaken.


So I understood why for 2014, programs implemented in 2014, you would have a half-year rule applied.  You know, '14 isn't the annualized value; it would be a half-year rule.


But I don't understand for programs implemented in 2005 to 2010 why the half-year is of any relevance at all when I am talking about impacts in 2014 and 2015.


MR. BUT:  I don't have the detailed calculation with me right now.  I cannot respond to your questions.


MR. HARPER:  Well, maybe I could just ask you –- unfortunately, like I said, the math here as it is doesn't seem to address the issue I was looking at.


And so if -- maybe the best thing, Ms. Lea, is -- and if Hydro One is willing, is to go back and look at this within the context of the comments I have just made, and see whether it is anything further they would like to add to the response.


That is the best I can say at this point in time.


MR. ROGERS:  Why don't we do this?  We will take an undertaking to clarify this.  I think there is an explanation, but I am just not equipped to give it at the moment.


So, Mr. But, could you provide an answer for Mr. Harper?


MR. BUT:  We can look into the details, yes.


MS. LEA:  Thank you.  That would be Undertaking TCJ2.3.
UNDERTAKING NO. TCJ2.3:  TO EXPLAIN THE USE OF THE HALF-YEAR RULE FOR 2014 AND 2015.


MR. HARPER:  Thank you.


Moving on, my next question has to do with issue 6.6.  And it is tab 6.6, schedule 2, and it is Interrogatory -- SIA Interrogatory 54.


And as a background to my questions, I was just wanting to get some sense:  For those customers with smart meters right now, is Hydro One able to disconnect and reconnect those customers remotely?  Is that one of the functions of the smart meters?  Or do you still have to go out and do a physical visit with those customers if you want to just disconnect or reconnect them?


MR. ADAMS:  Hydro One has to go out and physically go to the meter today.


MR. HARPER:  Okay, thank you.  I think that sort of addresses the first two questions I had there, so that's fine.


Under the response to part (a), in this question, the Sustainable Infrastructure Alliance was asking you about the costs associated with your various miscellaneous charges, and you indicated that for certain of the miscellaneous charges -- such as account setup charges, arrears certificates, a number of others -- you really couldn't give the cost because they were part of a bundled contract you had with your external service provider, which I assume is Inergi, if I am not mistaken?


MR. ADAMS:  Correct.


MR. HARPER:  And so I guess the question I had was, if it's -- do you have any capability of looking at where the charges -- what you're charging these customers for these services are reasonable relative to the costs?  Is there any mechanism you have for checking the reasonableness of these charges at all, or are we just sort of left with using the Board's proxy numbers because those are the only numbers available to you?


MR. ADAMS:  I think, as you said, using the Board-prescribed numbers as the proxy.  And for a number of these I think I would just add that the revenue amounts are -- I hate to use the word "immaterial", "small", because nothing is immaterial.  Small relative to any impact it would have in terms of even any delta.


MR. HARPER:  Well, I wasn't as much concerned just about the revenue requirement, but for customers who are paying these specific charges, sort of the validity of the basis of the charge they're actually being made, and that's obviously the other half of the concern, as opposed to just the revenue-requirement implication, but thank you, I understand the answer now.


MS. LEA:  I wonder if I could just interrupt, please.  We have had a request to go back on to the conference-call system.  So we're going to take a few minutes to do that.  Are you able to do that?


So just one moment, please.


[Teleconference established.]


MS. LEA:  Mr. McGee, are you there?


I have just sent Mr. McGee an e-mail asking him to dial in now.  He e-mailed us about ten minutes ago.  So I am hoping that he joins us shortly.


In any event, I think we'd better continue.  Thank you.

MR. HARPER:  Thank you.


If we just -- on the interrogatory you have on the screen, if you just flip back one to SIA 53, that is where my next question is.


In this question you indicate that the OEB's prescribed charges for these miscellaneous service charges are considered acceptable.


I guess when I looked at the response, though, that you gave in SIA 54(b), which was the one we were just looking at, in some cases there are some material differences between the revenues associated with a particular service and the costs.  Sometimes the differences are as much as a factor of six.


I guess I was just wondering, at what level of revenue-to-cost differential would Hydro One require an order to consider that the charges were unacceptable?


MR. ANDRE:  Let me try answering that one, Bill.  So the order of magnitude of the actual costs of providing the service is different, but if you look at the rate codes 2, 3, and 5 that were mentioned, it goes back to the comment that Mr. Adams made earlier.


Rate code 2 generates 4,000 in revenue.  Rate code 3 is 56,000 in revenue.  Rate code 5 is 49,000 in revenue.


So I guess we hadn't turned our minds to -- certainly those numbers are not material.  It would be a question of, if we see those numbers climbing and we haven't turned our mind to a specific number that would generate concern, at numbers like 4,000, 56,000, and 49,000 it is not generating concern at this point, but if those numbers started to climb we would have to think, at what point -- at what point we might want to really get back to the Board, because the Board hasn't looked at this since 2006, and it may point to a problem with the current rate handbook and the need to have those looked at.  But given the revenues associated with those, we hadn't turned our mind to what number would be a problem.


MR. HARPER:  But just to clarify.  Your consideration of acceptability is acceptability in terms of what's the impact on the overall revenue requirement and revenues, as opposed to acceptability from the perspective of the ratio between revenues and costs for that particular activity?


MR. ANDRE:  Yes.  It is in terms of the impact on revenue requirement.


MR. HARPER:  Okay.  No, but I just wanted --


MR. ANDRE:  Yes, yeah, yeah, that comment was with respect to that, absol --


MR. HARPER:  Okay.  That's fine.  I just wanted to know the context in which you were talking about "acceptable", and I now understand that, so that's fine.


The next question I would like to turn to, it is issue 6.6, and it's schedule 6 again, and it's VECC 79.


Here we'd asked you for a little bit more explanation on how the customer count for each class was developed, and perhaps this question is more relevant than ever, given the conversations we have been having or what else is going on.


And in response to part (a) you talk about first of all the residential class and the fact that it has done taking into account a change in the number of households and the change in customer load.


While it is fine to say it is done looking at those two changes, is there a particular formula or methodology that you'd use to take those two factors and put them together and come up with your customer forecast?


MR. BUT:  Hydro One is not using a formula or equation.  The residential customer forecast is derived from the growth of the number of households in Ontario, which in turn is based on the consensus forecast of housing starts.


The residential load growth is also taken into consideration for checking purposes, so this is the methodology that we use to ensure consistency between the two forecasts; i.e., the number of customers and load.


MR. HARPER:  So I guess what I was struggling with is you say "takes into account".  I guess I was trying to understand -- if I understand your answer correctly, though, if I look at the change in number of customers, the primary factor you would use in deriving that would be the increasing number of households, and that you then take in -- also look at the change in load growth and see whether or not that suggests you should revise up or down the forecast based strictly on looking at the change in households.


Is that a fair characterization of what I heard you say?


MR. BUT:  Well, this is taking into consideration of the growth, in terms of the provincial households forecast, which was determined by the number of housing starts.


And then we take that into consideration with respect to the -- but this is Ontario, Ontario forecast.


MR. HARPER:  Yes.


MR. BUT:  Then we take that into consideration of the Hydro One-specific numbers and look at the historical trend, and therefore we take that into consideration, and then we project the number of customers forward.  And that is why I made the statement earlier, we take that into account.


MR. HARPER:  But at the end of the day this is based on your judgment looking at those two factors.


MR. BUT:  Yes.  Just like any other load forecast in this particular case, we -- there is no formula per se to come up with the forecast.  So there will be judgment involved.  That is the reason why I made the statement earlier that we are not using a formula.


This is not like running a regression.  When we do load forecasts we run regressions and we take this and that into consideration.  But with respect to the customer forecast we have to look at the provincial forecast relative to the Hydro One customer base and see how that trending will take the Ontario forecast to the Hydro One customer forecast for the residential customers.


MR. HARPER:  Okay.  With respect to part (b) of my question, that same issue of applying -- of looking at the factors which are referenced in -- for the other customer classes, and then applying your judgment based on those factors, is the way you do the customer forecast for the other classes as well?


MR. BUT:  Yes.  It is a similar answer, is we do not have an equation or formula.


With respect to the -- with respect to the other rate classes, and obviously, the main driver would be -- would be the -- as we explained, would be the load growth, which takes into consideration of the economic factors.


And the second driver is the residential customer growth.  And residential customer growth is relevant because the general service customer obviously is providing service to the residential customers.


MR. HARPER:  No, I wasn't questioning the rationale for the particular factors you use.  I was just trying to understand how you took those factors and come up with a number.  And I now understand the process that you use and that is what I was trying to do.  So thank you very much.


My next question is still under issue 6.6, and so it is tab 6.6 in the interrogatory responses, schedule 6, VECC No. 80.


And maybe at a high level, I was trying to understand, because the terminology "retail customers" is used in Exhibit A, tab 16, schedule 1, when you're talking about your overall forecast.


If I understand correctly, in that tab, when you talk about the -- when you use the word "retail" within the context of that schedule 1, retail excludes sub-transmission directs and it also excludes sub-transmission embedded customers?  You are just talking about the -- those are the retail classes?


MR. BUT:  Yes.


MR. HARPER:  However, in schedule 2 when we now start talking about the CDM and CDM impacts, use of the word "retail" there when you talk about CDM impacts, your use of the word "retail" includes sub-transmission directs but it excludes embedded distributors?


MR. BUT:  That is correct.  The sub-transmission directs are not included.


MR. HARPER:  Okay.  The sub-transmission directs -- I just want to look at something.


Okay.  No, that's fine, because it was looking at those different schedules and the fact that the change in retail was changed in between them was leading to some confusion on my part.  And I just wanted to make sure I understood what the definition was in each case.


So that if we turn to VECC -- go down to VECC 81(d) -- which I think is my next question -- just going down, in the table you provided here, these CDM impacts, when you use the word "retail" at the top of this title, these impacts include the sub-transmission directs but exclude the embedded distributors; that would be correct?


MR. BUT:  Yes.


MR. HARPER:  Okay.  Fine.  Like I said, I'm just trying to make sure I...


And I guess, if I go back to your Exhibit A, tab 16, schedule 2 -- this was in your original application, 16, schedule 2?


MR. BUT:  Right.


MR. HARPER:  If I turn to page 24?


MR. BUT:  Right.


MR. HARPER:  And here you have a breakdown of a load forecast before and after the CDM adjustment, and you have retail, which is the narrow definition of retail, and embedded customers, which is the broad definition of embedded, including the sub-transmission directs --


MR. BUT:  Including directs and --


MR. HARPER:  Right.  I was wondering, just to sort of be able to link that to be the subsequent two schedules, would be it possible to give me a schedule where the embedded customers, the load forecast section, the CDM impacts and the actual CDM was broken down between the sub-transmission directs and the embedded customers, so we can see how it aligns with the next two schedules?


MR. BUT:  Yes.  I have a handout for you, Bill, so...


-- Ms. Frank and Ms. Lee distribute the handout.


MR. ROGERS:  This is the advantage of giving questions in advance.


MS. LEA:  But the disadvantage is you have to try to read the handout and come up with questions.


MR. BUT:  Because -- this is a table, Bill.  That is the reason why we are giving you the entire table, so that you have the breakout.


MR. HARPER:  That's great, because this makes it a lot easier for me to move between the schedules.


MR. BUT:  Exactly.  I cannot read out the numbers.


MR. HARPER:  Thank you very much.


Was there an exhibit number you wanted to --


MS. LEA:  Yes.  TCK2.4.
EXHIBIT NO. TCK2.4:  HANDOUT PROVIDED in update or in reference to VECC interrogatory 7.


MR. HARPER:  Now, if we can stay in the same issue, and moving forward from VECC 81 to VECC 84, part (e) of this response suggests that the CDM impact, the impact of CDM programs on the billing kilowatts or demand is proportionally higher than it is on kilowatt-hours.


And I was just wondering, what is the basis for this assumption?  Because I can tell you virtually every other utility -- and maybe it is just a simplistic approach on their part -- assume they're both in the same proportion.  You know, a 5 percent reduction in kilowatt-hours leads to a 5 percent reduction in billing demand.


And I was just wondering, what was the basis for your assumption that the impact on billing demand was greater than it was on kilowatt-hours?


MR. BUT:  We actually thank you for this question and clarification.


Actually, when we read it, we found that on the response we provided to you in VECC 84, part (e), on page 4, starting in line 13, this should be corrected as -- and I am reading it out:

"Further adjustments were made to account for other factors, such as differences in the GDP and CDM impact on kWh as compared with demand."


Instead of what we provided:

"Further adjustments were made to account for differences in the CDM impact on kWh as compared with demand."


So if you look down to the table B in the response to VECC 84, if you look down to the table in table B --


MR. HARPER:  Yes.


MR. BUT:  -- the title of the table B is:
  "Adjustment to forecast to account for other factors."


So it is not just CDM alone.  So it is other factors, including CDM and other GDP impacts.


MR. HARPER:  Can you give me 30 seconds just to sort of assimilate?  So what you're saying is I do a forecast -- what you're saying is that... because your forecast in table A --


MR. BUT:  What we did in table A, Bill -- let me try to help you.  In table A, we did a quick simulation to compare, as you requested, but after that simple simulation we need to account for the differences attributable to other factors, such as CDM and GDP.


So that is the reason why we have the adjustments as provided in table B, in the response to (e).


MR. HARPER:  And those other factors would be the fact that you just feel that, over time, naturally, excluding CDM impacts, the billing demands aren't growing at the same rate as kilowatt-hours; is that --


MR. BUT:  Right.  It is all other factors.  Because we're just making a simple comparison as provided in A, but then you have to account for the differences of that simulation; that is the reason why we provided the adjustment in B.


MR. HARPER:  I noticed for every class the adjustments are negative.  I was wondering, what are the -- what sort of -- apart from -- you know, what would you say is the primary factor that is giving rise to this?  Rather than going into an explanation of all of the factors, what is the primary factor in your view that is giving rise to this fact that billing kilowatts are not going up as fast as kilowatt-hours?


MR. BUT:  As you correctly mentioned in your technical questions, CDM is a major factor.


MR. HARPER:  So -- but I think -- so maybe go back to my original question, then.


You're assuming that the impacts of CDM are greater on billing kilowatts than they are on kilowatt-hours.


So I guess I was going to ask:  What is the basis for that assumption?


MR. BUT:  In our response, in this quick simulation in response to the technical question, Bill, we did not have -- we did not do the detailed delineations of all the impacts.  So that is the reason what the adjustment in addition to A that we provided is provided to account for.  And we labelled that as "all other factors" that we need to adjust.


MR. HARPER:  Well, I will just leave that there, because all I asked was how you did the forecast.  I didn't ask you to do A or B.  This is all your methodology.


But I will leave it there.  I don't think we're going to get any further on this.


Maybe if I could move to -- actually, this was -- actually, was looking at VECC 86, but actually goes back to the -- if I can go back to the June update, Exhibit A, tab 16, schedule 3.  And it is page 4.  The question was triggered after I read the response to one of the IRs.


Now, this update -- effectively what the update did, if I understand correctly, is it added a row at the bottom for 2013.


MR. BUT:  Right.  That's correct.  And Bill -- and thank -- as a matter of, thank you very much for the technical-conference questions.


When we look at the pre-filed and the updated evidence, the column on page 4 in table A, the title should be corrected as "target program 2011 to '13" instead of "target program 2011 to 2012".


MR. HARPER:  I thought so.  But I just wanted to make 100 percent certain.


MR. BUT:  Right.


MR. HARPER:  Okay, thank you very much.


MR. BUT:  And since I am talking about a little bit of labelling, I should also mention here on page 7, the -- in terms of heading, there is another 2011 to 2012, and that should be changed to 2011 to 2013 as well.


So this is the -- a minor omission that we did when we did the update.


MR. HARPER:  This is page 7 of Exhibit A, tab 16, schedule 3?


MR. BUT:  Right.


MR. HARPER:  I am just trying to look at where the heading was you were referencing.  I couldn't see it.


MR. BUT:  Table 7.


MR. HARPER:  Oh, table 7.  I'm sorry, I was looking at page 7, I apologize.  Right.


MR. BUT:  On page 7.


MR. ANDRE:  No.  Table 7 is not on page 7, though.  Which is it?


MR. BUT:  No.  It is the heading under section 3, "target program", on page 9.  Sorry.  I am looking at the wrong one.


MR. HARPER:  13, fine, fine, okay, thank you.


MR. BUT:  section 3, "target program 2011 to 2012," that should be corrected as "2011 to 2013".


MR. HARPER:  If I could now turn up -- maybe go to VECC -- if we just -- the IR responses, issue 6.6, schedule 6, VECC 87.


MR. BUT:  For this question, Bill, we have a hand-out for you, because this involved a lot of numbers.


MR. HARPER:  Right.  No.  That's right.  It was trying to reconcile --


MR. BUT:  Right.


MR. HARPER:  -- some of what was in an interrogatory response with --


MR. BUT:  Exactly.  And the answer is, again, using the half-year rule.


--- Ms. Frank and Ms. Lee pass out document to all


intervenors.


MS. LEA:  This would be Exhibit TCK2.5, please.

EXHIBIT NO. TCK2.5:  DOCUMENT WHICH REFERENCES VECC INTERROGATORY 10.


MS. LEA:  And it is -- how is it best to label these?  I am tempted to refer to the original interrogatory number, frankly.   So for the benefit of the reporter, TCK2.4 was an update or a reference to the VECC interrogatory 7.  And TCK2.5 is -- references VECC interrogatory 10.


MR. HARPER:  I guess, to be quite frank, I have the same problem with this response as I did with the one I was struggling with either, and that is we're talking about CDM savings from programs that run from 2011 to 2014.


I can understand why the half-year rule would have an impact for 2014, but I have a problem as to why it would have any relevance at all in the years for which this application is covering, which is '15 to '19.


And -- and all I can ask is, it probably relates to the same issue that I raised in the prev --


MR. ROGERS:  Yes.


MR. HARPER:  -- we just talked about earlier, and if maybe this could be given consideration at the same time, I think that is the best way to deal with it if Hydro One would agree.


MR. ROGERS:  Yes.  We agree.  I think it's the same explanation, I imagine, I hope.


MR. BUT:  Yes, mm-hmm.


MR. HARPER:  Excuse me, Ms. Lea, if you could remind me what exhibit number we assigned to this particular response?


MS. LEA:  This last one was TCK2.5, and that is the one that relates to VECC 10.


MR. HARPER:  Yes, thank you very much.


I would then like to turn -- staying in the same issue, issue 6.6, schedule 6, VECC 87.  And actually, I found the response to part (e) extremely helpful, to be quite honest with you.  It sort of -- a light bulb went on at that point in time, in terms of how you were doing this.


And I was hoping if it wouldn't be too much trouble, if I could -- this was for 2015 -- if I could get a similar table for the other years --


MR. BUT:  Yes.  Since -- in light of your enlightening, so we are providing -- instead of just a detailed schedule for 2015, we are providing you with a detailed schedule, including 2016 to '19 as well.


MR. HARPER:  Yes.  I think what this tells me -- like, I was struggling with how you came up with the code savings versus this versus that, and this tells me that at the end of the day it really doesn't make a lot of difference, because it all reconciles to a total.  And as long as you are happy with how you got the total, that is the important piece.


MR. BUT:  Right.  And the total is from the source we know, yes.


MR. HARPER:  Right.  Yes.  So this is really useful, thank you.


MS. LEA:  And this "useful" exhibit will be TCK2.6.  It refers to VECC interrogatory 11.

EXHIBIT NO. TCK2.6:  DOCUMENT REFERENCING VECC INTERROGATORY 11.


MR. HARPER:  Now, if I could -- still staying with issue 6.6, if I could ask you to turn up schedule 11, Energy Probe 49.


MR. BUT:  Yes.


MR. HARPER:  Here in part (b) you were making reference to the fact you weren't planning on updating the load forecast, annual basis, and you would expect that the load forecast would be accurate within one standard deviation over the five-year period.


Now, if we then go to VECC 78, and so that that would be schedule 6, VECC 78.  In part (b) to this response, if you scroll down a little, you will see there are one standard deviation values given for each -- for one year out, two years out, all the way out to five years out in the forecast.


Are these -- would these be the same one standard deviation values you're referring to in the response to --


MR. BUT:  The answer is yes.


MR. HARPER:  -- 49?  Okay.  Fine.  And I guess -- and I know this has come up a little bit originally.  Based on the load forecast and the base distribution rates proposed -- I was using '17 and '19 as two illustrative years -- how much additional revenue or less revenue would Hydro One earn if the loads for these years were respectively one standard deviation higher or one standard deviation lower than forecast?  Like, I am trying to understand, if you expect the load forecast to be within one standard deviation, what sort of fluctuation in revenue does that potentially translate into?


MR. BUT:  Well, 2017 the one standard deviation for load, Bill, I just want to mention that, is plus and minus 2.79 percent, while for 2019 the one standard deviation is plus and minus 4.07 percent.


I did ask our finance staff to do a quick pro-rated calculations.  I mentioned it has to be quick because, given the time you have for --


MR. HARPER:  I understand.  Just quickly for a rough estimate --


MR. BUT:  So using that really simple proration of plus and minus 2.79 percent in load forecast changes and 4.07 plus and minus, for 2017 for revenue we are talking about plus and minus $20 million, and for net revenue it is plus and minus $15 million.


For 2019, the plus and minus 4.07 percent in load forecast.  The plus and minus number for the revenue is $29 million, and for net income is $21 million plus and minus respectful, respectively.


MR. HARPER:  Thank you.  I was looking for a rough order of magnitude on that.


MR. BUT:  I want to emphasize this is a quick calculation in light of the time.


MR. HARPER:  No, that's fine.  That's fine.


I think I can give Mr. But a rest for a few minutes now and move on to issue 7.2, which is -- and 7.2 is dealing with the seasonal customer classification.


This may have a bit of an overlap, so hopefully we can move through some of this fairly quickly.


And in the question I sent you there were a number of references, and we'll see whether we need to turn up any one of them in particular.  I am not too sure.  Maybe we can try and talk about this at a general level and see whether we can get through with it on that basis.


I think part (a) I was asking you to confirm what was the definition of a residential premises, that it had to be occupied at least eight months a year.  And we talked about that already in your response to the questions from Balsam Lake.


I guess I was just curious, given that the regulation talks about eight months of the year, why you particularly -- in your definition of wanting to reclassify seasonal customers, said they had to have 600 kilowatt-hour usage for a minimum of ten months of the year as opposed to, say, pinning it to the eight months of the year, which would be consistent with the regulation.


Was there something sort of in particular about the ten months of the year that made it your basis?


MR. ANDRE:  Yes.  Thanks for the question.


The definition in the regulation talks about residency; the focus is on residency.  It is trying to distinguish between year-round primary residency versus -- even though it doesn't mention seasonal, but essentially it's establishing that distinction between year-round primary and seasonal.


Whereas in trying to decide what to do with those 11,000 customers  -- or trying to decide how many customers, seasonal customers are high-volume and might look like, from a load consumption standpoint, might look like a year-round primary residence, it goes back to that analysis in the IR response that we talked about before, where Stan looked, you know, basing -- using 2012 data, looked at the consumption of residential customers and came up with a consumption level that would represent the typical residential customer.


And so the two are separate.


One, the definition in the regulation doesn't mention consumption at all.  It just talks about a year-round primary residence.  And the analysis that Stan did was to try to identify:  Okay, so what does a year-round primary residence look like?  And the best indicator of that, based on Stan's analysis, was ten months of at least 600 and 9,600 over the full year.


MR. HARPER:  Actually I have forgotten the reference, but I know we had a discussion earlier about the VECC IR where we had asked you that.  And I was curious, because in the IR you'd indicated that your analysis -- your analysis looked at annual consumption, monthly consumption.


You also made a reference in the IR response to the customers residing there at least ten months of the year.


I was curious, within the context of Hydro One, how you would actually know from your billing system that they were actually residing there ten months of the year, but using some measure -- or was that just based on their consumption level?


MR. BUT:  It was based on -- yes, that is correct.  Because when you look at the bills and we look at the meter value, and then if you have consumption of that amount -- which is significant.  We're not talking about consumption of 100 kilowatt-hours or 50 kilowatt-hours; we're talking about at least 600.


And that is the reason why we can assume -- you know, we can assume, infer from that it is being occupied.


MR. HARPER:  So it was an inference, because when I read the response I thought you had some factual information that they resided there.  I was wondering how you came up with that, but it was really using the 600 as an inference that they were using it as a permanent -– they were residing there permanently.


Okay.  Fine.  Thank you.


The next question I had in mind was about the qualification process.  And I think that was already dealt with with -- earlier, in terms of customers only qualified basically when they request -- one, when they request an initial service and an account set up, they would be qualified.  Then after that, their qualification, say, only changes if they actually take the initiative to contact Hydro One and say:  Hey, this is now my permanent residence.  Please reclassify me.


MR. ADAMS:  Correct.


MR. HARPER:  Okay.  So you do no sort of asking for periodic sort of re-declarations from customers that it is still their permanent residence.  Once they have done it at the time of the account set-up, even if they're there ten, 20 years, you're still assuming it is a residence in terms of the definition of the regulation?


MR. ADAMS:  That's correct.  And I think we would just also note that there would be a -- I don't know if I would use the word "significant", but large cost to be able to do that kind of qualification and records and things.


And I think it would also put, certainly, the customer, customers in a position where they would have to be providing that kind of declaration and things.  And it is not something we have pursued.


MR. HARPER:  No, I wasn't suggesting you should.  I just wanted to understand what the current practice was.


Now, if we move to the proposal you have for people who don't do a declaration, in which you're reclassifying them as R2 or R1 as opposed to a seasonal customer based on their consumption pattern, you have your criteria now, which we're talking about moving 11,000 customers over.


Going forward, each year would you be reviewing the then-existing seasonal customers, to see whether any of them meet the sort of 600 kilowatt-hours for ten months, 9,600 in total, and doing a reclassification of those customers if additional customers met that threshold?


And if not each year, maybe how periodically might you do it going forward?


MR. ANDRE:  Yeah, Bill.  I think that would be the objective, to do that periodic review.


I mean, annually, to me, would seem to be the right approach to do it.  I haven't talked with our customer service in terms of the implications from an administration and a cost perspective, but that would be the objective, is to do that review annually and see if there's any other seasonal customers that would qualify for that.


MR. HARPER:  The flip side of that is for seasonal customers that, in this process, you have moved over, would you be -- and have not signed a declaration, would you periodically be reviewing their consumption now they're in the R2 class, to determine that they still have a consumption level high enough that they continue to qualify to be in the R2 as opposed to the seasonal class?


[Witness panel confers]


MR. ANDRE:  Yes.  So I think that moving both ways would be the appropriate way to go.


I mean, certainly that happens with the general service 50, above 50 and below 50.  We do that annual check to see that they move.


If we move the seasonal to full-time residential on the assumption that they're there, you know, using that property like a full-time residential, if that changed, then there should be some mechanism to move them back.


So yes, I would agree we would check that.


MR. HARPER:  Ms. Lea, before I go on I was looking at the clock and whether or not you want to break now for lunch.  I know the panel has been up here for a while and...


I am in your hands, and Hydro One's hands.


MS. LEA:  Do you have any idea yet, Bill, how much longer you might be?  And I don't mind what the answer is; I'm just trying to -- oh, and Julie indicates she has five minutes also.


MS. GIRVAN:  I just have a few questions to follow up on the seasonal stuff, if I could do that, and then I would be done.


MS. LEA:  Okay.


MR. HARPER:  I have five or six more questions myself.  But I was just looking at the clock and thought I would stop now and see what people's wishes were.


MS. LEA:  I am in Hydro One's hands.  Would you prefer to keep going and --


MR. ROGERS:  I think if we could -- I think we would, Ms. Lea.  If we can finish in a half an hour or so, I think the preference would be let's finish and we'll --


MR. HARPER:  I just wanted to give you the opportunity to --


MR. ROGERS:  Madam Reporter, is that okay with you?


REPORTER:  Yes.


MR. ROGERS:  Let's carry on, then, Ms. Lea, shall we?


MS. LEA:  Okay.  Thank you.


MR. HARPER:  If I could turn to tab -- still in the interrogatory responses, tab 7.2, schedule 6, VECC 93.


And in both parts (e) and (f), we asked you for a breakdown of number of customers in different consumption categories.  Unfortunately, because Part (f) focused on just the highest ten months of the year, it had a different definition of consumption categories than part (e) did.


Unfortunately, your answer used the same consumption categories for both (e) and (f), and I was wondering if it would -- (f) was particularly interesting, because that was the highest, and was focusing on -- one of the breakpoints was 600, which was your definition point, which is why I was interested in getting that, and so I was wondering whether it would be possible for you to redo part (f) based on the question as initially filed.


MR. ANDRE:  Absolutely, Bill.  So we have that written response.


MR. ROGERS:  We have done it, and it is being distributed now.


MR. HARPER:  Great.  Thank you very much.


If they all go this fast you will be out of here in half an hour with...


--- Ms. Frank and Ms. Lee pass out document.


MS. LEA:  The light is on, but nobody was home.  Okay.  Yeah, all right.  Try again then.  This is TCK2.7.  Reference is VECC interrogatory 14.

EXHIBIT NO. TCK2.7:  DOCUMENT IN REFERENCE TO VECC INTERROGATORY 14.


MR. HARPER:  Now, I would like to turn to -- actually, that was 92.  If I could just turn to VECC interrogatory 94, which was the next interrogatory in the package.


And in part (d) we'd asked you for some information basically based on kilowatt-hours and the various -- and a couple of load demand-related factors that are used in your cost allocation for different consumption categories.  Excuse me, I am being tongue-tied here.


Part of our interest in that was trying to basically ourselves do a calculation of load factor and see to what extent these customer classes, the customers in them were different or were the same.


When we did that for this calculation, and I provided the -- I provided sort of the results in the written questions I filed on July 17th, I found that for the four -- I calculated the four NCP load factor, which is basically taking the total kilowatt-hours and dividing by 8,760 to get an average kilowatt-hours for the year, taking the four NCP value, dividing by four, to get the average of the four, and then dividing one by the other to come up with the load factor.


My expectation was, given those definitions, the number would be something between zero and one in every single case, and when I did this for the seasonal class, it came out that for the lower levels of consumption the number was quite a bit higher than one, and given that we have a lot of seasonal customers in those lower categories, I was somewhat concerned that either, you know -- and there may well be some faults with the data.  I understand that.


But I understand -- whether there was a fault with the calculation that was -- I am just trying to understand if you could explain the results that I was coming up with.


MR. BUT:  Perhaps, Bill, I can help out.  I did look at the programming and calculations, and it appears that all the calculation was as requested.


Now, then the question is, how come the load factor is more than one, greater than one?  Remember in the denominator in this case we are not using the usual load factor calculation of average peak.  In this case we're using an average of the four non --


MR. HARPER:  Highest peaks.


MR. BUT:  Highest peaks, okay, NCP.  To the extent that customers have less consumptions, therefore, for certain customers there would be less -- they won't have -- they won't have equivalent number in the calculation, because they won't be four NCP, the four NCP somewhat -- that would be less, right, still, because of -- because there is no consumption.


So if this is the case, this is basically the denominator being calculated in such a way that in taking the average of the non-coincident peak and for customer with fewer than -- fewer months' consumption, that is the reason why you are getting a load factor in this case more than one.


MR. HARPER:  Each of these load factors was calculated by taking all -- like, let's say zero to 100 kilowatt-hours.  You took all of the customers that fit into that category, and this is their total kilowatt-hours, and then, looking at their total kilowatt-hour load profile, coming up with the four NCP values, right?


MR. BUT:  I believe that is the calculation that we did.


MR. HARPER:  Yes.  And so I was trying to understand how, in any context, if, you know, if I'm looking at the load profile and I am looking at the peak -- the peaks -- the overall load profile, the peak for the four highest months, and then I am looking at the total energy in those four -- energy in those four months, which would be less than -- you know, on average less than the peak, and the energy in other months, which is going to be less again, because they will have lower peaks, how I -- I am trying to relate your response in terms of how I can possibly come up with a load factor of greater than one, I guess, to be quite honest with you.


MR. BUT:  To the extent that serving customer with non-coincident peak with only -- for example, this in the average of four non-coincident peak, right?


MR. HARPER:  But maybe it is -- when you calculate the four non-coincident peaks, this was the -- this was the -- was this calculated looking at the -- like, let's say this -- the very first row here, it is seasonal zero to 100, and it has a non-coincident peak of 1,754.


Was that looking at -- taking all those customers, the meter data for all those customers, as a group and then looking at that total load profile for all those customers as a group in each month and identifying the four NCP --


MR. BUT:  Yeah, isn't that the load factor you referred to pertains to the four non-coincident peak, and that is the reason why earlier I explained that to the extent that those customer have less months of consumptions, therefore, in those situations they don't even have the equivalent four non-coincident peak, and if you average them out their denominator will be lower.


MR. HARPER:  But if they don't have any four non-coincident peaks they won't have any energy either, because if they have energy they have a non-coincident peak.

MR. ANDRE:  Yes.  But the energy number, isn't that the total energy number over the whole year, Bill?


MR. HARPER:  Yes, it is.


MR. ANDRE:  So you're using -- is the issue that you're using sort of a numerator that is based on the average over the whole year and you're using a denominator that is based on an average of the four NCP, where in fact it could be sort of three values that are low and one that is quite high?  Like, I'm --


MR. HARPER:  The four highest of the 12 months, they're the four highest values.


MR. ANDRE:  But, I mean, for those really low-consumption seasonal customers that might represent one peak, like, one high number for one of those months and three low numbers for the other.  They're still the four highest, but they could be really low numbers for the other three months.


MR. HARPER:  But we're not doing this on an individual customer basis, we're doing this for the whole group.


MR. ANDRE:  The whole class.  But it's still the whole group of zero to 100 kilowatt-hours per month.  So that is a group of very low-consuming seasonal customers.


MR. HARPER:  I understand.  Well, we will leave it.  I still -- I am still unconvinced the math would work out, but we will leave it at that.


If we move on to -- I would like to look at issue 7.3, which is then tab 7.3, schedule 9, and it is SEC 58 and 59.  And here SEC was -- one response deals with the -- one of the UG classes and the other response deals with another one of the general-service classes, but it is the same general question in both cases, and that is once -- I think, you know, if the average billing demand is going down by 5 percent, does that account for the fact of why the rate -- why the volume impacts are going up by a comparable amount?


And your answer was yes, and I guess I was just wondering; you say "all other things being equal."  Are you assuming that that average reduction in billing demand has no impact on the cost allocation factors like the demand allocation factors, and therefore we're just recovering the same costs from this class?


And if the billing demand goes down correspondingly it has to, you know -- the volumetric rates have to go up?  Is that the...


MR. ANDRE:  So the numbers that we come up with the average is basically the calculation of the kilowatts associated with that class divided by the number of customers, right?  That is the simplistic calculation of the average.


MR. HARPER:  Yes.


MR. ANDRE:  If you're referring to the sentence on lines 26 and 27, my response there -- and in my version of the response I've crossed out the word "average" because I am not sure -- what I had intended to say is that decreases in volume typically correspond to increases in rates, and changes in volume are sort of aligned with increases in –- or –- so decreases in volume are typically aligned with increases in rates.


And I don't know if -- the word "average" in there, I think, may be muddling things.  It was just a generic statement about the relationship between volume and rates.


MR. HARPER:  Well, actually it was the middle step I was worrying about, because if -- a decrease in volumes would theoretically lead to a decrease in the cost allocated to the class.  And therefore, depending upon how that allocation went, may or may not lead to an increase in rates.


I guess I was wondering whether in your response here you were assuming there was no change in allocation to the class.


MR. ANDRE:  Right.


MR. HARPER:  And that was why the response read the way it did.


MR. ANDRE:  Yes.  That's right.  Yeah, it read that way.


MR. HARPER:  It was sort of a simplifying assumption?


MR. ANDRE:  Absolutely, yes.


MR. HARPER:  If we could turn to issue 7.4, which is tab 7.4, schedule 6, VECC 98, here we were asking you about -- this has to do with the cost allocation and sort of weightings for service assets.


And we're asking you whether all classes except residential and seasonal are responsible for the maintenance and replacement of their service connection costs -- service connection assets, excuse me.


And in your response, you say:

"All classes are responsible for the maintenance and replacement of customer-owned assets, including service connections, which typically applies to all classes except residential and seasonal."


Well I hate to see it.  When I see -– there's two words that put my ears up.  One is "typically" and the other is "generally," because both can hide a host of issues sometimes.


And I guess I was just wondering -- I just wanted clarification here.  For classes other than residential or seasonal, you know, when you say "typically," in what cases would those assets -- would the service assets not be owned by the customer involved, and how frequent is that?


MR. ANDRE:  So based on our conditions of service and certainly on a go-forward, that would never happen.


I think -- I might have used the word "typically" trying to be overly cautious, in that I can't be 100 percent certain about legacy assets.  Certainly any that I am aware of, that would not be the case.


But I can't speak to, you know, what might have been done 20 or 30 years ago within the company, so it might be an overly cautious use of the word "typically" in my -- in the --


MR. HARPER:  Okay.  Fine.  No, that's fine.  I understand the context.


MR. ANDRE:  But I am not aware of any.  And certainly we don't track secondary -- like, the GIS system doesn't currently track secondary assets, so we couldn't even go back over time to check that.


But yeah, the word :typically" shouldn't be there.  It is probably easier that way.


MR. HARPER:  Sometimes it is used to hide a host of sins.  If I could move forward to the next interrogatory, which is VECC 99, in the -- under tab 7.4.


This has to do with the weighting factors for meter reading, and I was curious in the fact that -- my understanding is that they basically -- your R1, R2 and seasonal customers all have smart meters.  And I guess I was just wondering why, in that context, there was a difference in the weighting factor for meter-reading for those three classes, where seasonal ends up being almost, you know, considerably higher than UR, yet they have the same type of meter, and theoretically the same type of meter reading is being in each case.


MR. ANDRE:  So you are correct, Bill.  The smart meters, you know, wouldn't have any meter reading costs per se associated with it.


There are -- in the US of A account that deals with meter-reading, there are still some dollars in that account, and those dollars are associated with those customers whose meters are still being read manually.


So while there are smart meters on all of our customers, if you look at the tab where the number of meters is in the model, you will see that there's still about 86,000 UR, R1, R2 and seasonal customers who we are forecasting will require manual meter reads.


So these factors will apply to those costs associated with manual meter reading, and reflect the numbers of customers in those various residential classes that we are forecasting to still need manual meter reads.


As you know, we have, I think, in total, about 150,000.  So there's some general service customers that also are going to have manual meter reads, meters that -- the smart meter has been installed, but for a number of reasons they're not communicating, so we still need to do manual meter reads on those.


MR. HARPER:  But those readings have nothing to do with the customer; all of those reasons would have to do with technical issues on the Hydro One side, as opposed to any issue with the customer?


MR. ANDRE:  True.  So the costs -- those meter reading -- that cost in that US of A account related to meter reading is attributed to the meter reading for those classes where customers exist that don't have -- you know, that don't have communicating smart meters.


MR. HARPER:  Okay.  Fine.  My last question is -- if I could turn up issue 7.07, and it is schedule 6, VECC 105(a).


MR. ANDRE:  So, Bill, yeah, this is another one.  I agree the -- you need those definitions.  So we have a written response.  Rather than reading out what was done, we have a written response that gives you the formula and the calculation used for each of your items, A, B and C identified.


MR. HARPER:  Because I must admit I did go back and I understood where the minimum 4 NCP value comes from.  It was the column after that and the final column, because even if I took the -- you know, the kilowatt-hours and divided by the number of customers, I didn't come up with the final column.  Which I thought would be a fairly easy -- you know, kilowatt-hours divided by number of customers gives me average.  And so hopefully there is a --


MR. ANDRE:  So if you want to look at the response and see if that clarifies it for you.


MS. LEA:  This latest handout, then, which references VECC Interrogatory 19 will have Exhibit No. TCK2.8.
EXHIBIT NO. TCK2.8:  HANDOUT IN RESPONSE TO VECC INTERROGATORY NO. 19.


MS. LEA:  Yes, 2.8.


MR. HARPER:  So the kilowatt-hours you're calculating here are only the kilowatt-hours in the four months -- for the four months of the year where the -- four months of the year used to calculate the NCP, as opposed to kilowatt-hours for the entire year?


MR. ANDRE:  We're multiplying them by 3.


MR. HARPER:  I guess that was my second question.  If I have a 4 NCP, which theoretically means four months, I was trying to figure out why you're multiplying by 3.


MR. ANDRE:  To get to an annual number.  So four months, multiply it by 3 gives you 12 months of consumption.


MR. HARPER:  Oh, I see.  Assuming that the consumption in the other months is similar to the ones where the NCP -- which are basically the highest months of the year.


MR. ANDRE:  Right.


MR. HARPER:  So there is a bit of a disconnect there.


MR. ANDRE:  True.


MR. HARPER:  Okay.  Fine.  At least I understand how you did the calculation.  At this point in time, I am not going to ask for anything else.


MR. ANDRE:  Okay.


MR. HARPER:  Thank you very much.  Those are all my questions.


MR. ANDRE:  Thank you.


MS. LEA:  Thank you.  Ms. Girvan?

Questions by Ms. Girvan:


MS. GIRVAN:  Could you -- we are back seasonal rates again.  Could you turn to the FOCA Interrogatory No. 6?  So it is tab 7.1, 01, schedule 8, FOCA 6.


Anyway, I am just trying to sort of understand kind of historically how we have arrived at these rates.


So first of all, can you explain to me why the fixed charge under seasonal rates is lower than the fixed charge under R1 and R2?


MR. ANDRE:  So the -- when we were he setting the fixed charge for seasonal --


MS. GIRVAN:  Mm-hmm.


MR. ANDRE:  -- that is one of those where I've said before we were using the minimum system value from the Board model.


But in the case of seasonal, the minimum system value would have been a very -- a much larger number.


MS. GIRVAN:  Yes.


MR. ANDRE:  It is in the evidence what it is.


So for seasonal, what we did was we took the approach that it would be the average of the R1 and R2 fixed charges, since we have seasonal customers in both of those classes.  We took -- and, sorry, it is not the average of their charges, no.  It is the average of their percentage.


So the fixed-variable split --


MS. GIRVAN:  Yes.  Like, 47/53?


MR. ANDRE:  -- we said there's a fixed-variable for R2 and a fixed-variable split for R1, and we took the average of that.


MS. LEA:  Okay.  I am having trouble with my mic today too.  I missed part of that answer because two folk were talking at the same time.


Madam Reporter, were you able to get the entire answer?

MR. ANDRE:  I'm happy to -- would you like to hear it again, Jennifer?


MS. LEA:  I would, yes, please, thank you.


MR. ANDRE:  So the fixed charge for the seasonal is based on assuming the average of the fixed/variable split for the R1 and R2 customers.


We took that average fixed/variable split, applied it to the seasonal customers, and that is how we came up with the seasonal fixed charge.


MS. GIRVAN:  Okay.  And then can you just explain to me -- this is basic, but explain to me then why the variable charge for seasonal is so high relative to the other classes.


MR. ANDRE:  So Julie, that is simply a function of -- probably the best way to do that is to turn to the rate design tab.  I will give you a reference in a second.


If you would turn to Exhibit G1, tab 4, schedule 1.  It will come up on the screen.  And then if you go to attachment 1 of that exhibit.  This is the rate design sheet.


And so the -- in the rate design sheet if you look at the seasonal class --


MS. GIRVAN:  I can't see anything.


MR. ANDRE:  Yes.  Okay.  Could you scroll over to the left side?  Or the right side, rather, yes.  I assume this is the update.


Well, this illustrates -- what I wanted to illustrate was that you have a fixed charge -- I don't know why this says 2,657 for the seasonal class as opposed to 2,708.


Oh, right.  This is based on leaving the 11,000 --


MS. GIRVAN:  Oh, okay.


MR. ANDRE:  -- customers, whereas our evidence is with the 11,000 customers moving.  But it is the same principle, Julie.  You have a certain fixed charge.  When you multiply that by the number of customers that results in this example, 45.8 million in revenue from that class.


That means when you look at the total revenue to be collected, that leaves 42 million to be collected, 42.9 million.  And then because you have moved those 11,000 high-volume customers out, they took a lot of their kilowatt-hours with them.


So the kilowatt-hours of the customers remaining in the class means that the variable charge is still at the value that is.   And you can see, actually -- so this variable charge in our evidence would be 9 cents, 9.05 cents --


MS. GIRVAN:  Yes.


MR. ANDRE:  If those 11,000 high-volume customers stay in the class, the volumetric charge actually drops to 7.05 cents.  So you can see the consistency in that, and it is all tied to the kilowatt-hours available over which they spread the costs to be recovered.


MS. GIRVAN:  Okay.  Okay.  I understand the logic, yes.  It is just -- it is interesting.


The other thing that I wanted to ask you about, just sort of going back, and I just need you to jog my memory a bit.  We used to have rates R3 and R4.  Can you explain what those were?


MR. ANDRE:  So they were essentially a type of density differentiation.  So the R3 was the small-town seasonal customers located in small-town-type communities, and the R4 --


MS. GIRVAN:  So high density, low density --


MR. ANDRE:  The higher density and lower density, yeah.  We just had the higher and lower density for those two seasonal classes before --


MS. GIRVAN:  So what would be the drawbacks of going back to that type of model, where you have seasonal rates that are density-based?


MR. ANDRE:  The whole 2008 proceeding was about dealing with the large number of rate classes that Hydro One had.  We're trying to bring those down to a number more like other utilities, you know, that only have to deal with --


MS. GIRVAN:  But this would really only add one more class.


MR. ANDRE:  True.  It would --


MS. GIRVAN:  It just --


MR. ANDRE:  -- add one more class and one more thing to track.  But it would seem to me that we have gone through this process of now, you know, they have been -- this was initiated in 2008.  So we have been migrating -- and only migrated to a fully integrated R3 and R4 class into one seasonal -- in 2011, and now a few years later to go back doesn't seem like a reasonable thing --


MS. GIRVAN:  But it seems to me it would be -- maybe it is a fairer way of designing your rates relative to what we have now, because of the variation in the consumption of the seasonal rates, seasonal customers.


MR. ANDRE:  That would be true, Julie, if the variation is tied to R3 and R4, but I think you would have -- within the R3 group you would have the high volume and the low volume, and within the R4 group you would have the high volume and the low volume.


I don't know that the volume issue is addressed by breaking it up into those two density-based --


MS. GIRVAN:  So could you develop seasonal rate classes that are more reflective of consumption patterns?


MR. ANDRE:  That was one of the options that was put forward when we did the focus groups, and wasn't one of the ones that received very much attention from --


MS. GIRVAN:  Well, yeah, I mean, but it is -- that is an option.


MR. ANDRE:  Sure.  There's --


MS. GIRVAN:  From your perspective.


MR. ANDRE:  Yeah, and --


MS. GIRVAN:  But that might be more logical, again, to differentiate based on consumption patterns.


MR. ANDRE:  Yes, if you were going to do it I would say that is more logical than going to R3 and R4.


MS. GIRVAN:  It is more consistent with cost allocation and rate design principles.


MR. ANDRE:  I don't know about more -- I mean, the R3 or R4 would -- you would have some consistency in, you know, the volume of assets that you need, the amount of assets that you need to serve those two classes.  So certainly you would have an alignment with cost allocation from that perspective.


But in terms of the rates that it generates, the breaking it out by high- and low-volume customers might lead to fairer rates.  I don't know that it necessarily leads to more consistent or fairer cost allocations.


MS. GIRVAN:  Okay.  There is no perfect way to do rate design, right?


MR. ANDRE:  You nailed it.


MS. GIRVAN:  Okay.  And if you can just turn quickly to CCC 7, issue 7.2, number 31.  You've got some examples here of other jurisdictions that have seasonal rates.


So I am just curious, at the very bottom, you talked about Manitoba Hydro seasonal criteria include consumption and demand thresholds.


Can you further explain exactly how those rates are designed?  Do you know?


MR. ANDRE:  Yeah, no, I wouldn't know how -- I wouldn't be able to elaborate on the details of how they're designed. If I recollect about the consumption demand thresholds, I think it has to do with, up to a certain level of consumption you're going to pay -- you're going to pay a certain rate.


So in other words, whether you consume a little or up to that threshold amount, you're going to pay a set rate, and then I guess beyond that then there's probably different rates that apply.


But I am not that familiar with -- with the details of their rate design.  All we had was their rate schedule to go by.


And that rate schedule, if you were interested in, Julie, is -- we got it off the Web, so --


MS. GIRVAN:  Okay.


MR. ANDRE:  -- if you did a search it is readily available.


MS. GIRVAN:  Okay.  Well, you can imagine we're just trying to look for some solutions here that might be better than the one that you have proposed, but thank you, those are my questions.


MR. McGEE:  Yeah, it is John McGee here.  I have listened to all this, and I don't want to deny anyone their lunch, but I do have a couple of very quick questions for Henry.


MS. LEA:  Yes, Mr. McGee.  If you can speak up a bit, please.  We're having a little trouble hearing you.

Questions by Mr. McGee:


MR. MCGEE:  Yeah, okay, Now, in Henry's comments the occupancy was related to consumption.  The assumption was that if there's power being consumed then the building is occupied.  And I just wanted to point out that there are many power-consuming devices in seasonal residences that are used in the wintertime when there isn't necessarily any occupancy.


And I would mention things like bubblers, which is a pump in the lake that pumps water to keep ice from damaging boathouses and expensive docks.  Number two was heat lines that heat the -- heat the water line that goes into the lake to bring the water up.  And many people keep, you know, a fairly minimal amount of electric heat on in the wintertime in their cottages.


MS. LEA:  You are fading, Mr. McGee.  Can you speak up?


MR. McGEE:  Yes.  Many seasonal customers keep a minimal amount of electric heat on in the wintertime to keep their -- keep the pipes from freezing.


So I think that the business of equating consumption with occupancy is somewhat flawed.  And I think it should be looked at very carefully before a firm decision is made to transfer these 11,000 customers to the R1, R2 classes, which by the way -- you know, FOCA opposes that very strongly.


MS. LEA:  Okay.  Do you have a question arising out of that thought, sir?


MR. MCGEE:  Yes.  The question is:  How do you equate, how does Hydro One equate consumption with occupancy?


MR. BUT:  Well, as we responded to and discussed with Bill earlier, we do not know that it is being occupied.  We don't have that information.


And the only way we can tell is based on the consumptions and looking at the profile that we have selected.  We are talking about 600 kilowatt-hours, at least 600 kilowatt-hours, for ten months.


The comment you made earlier, Mr. McGee, they may be having some heating cables and, you know, for the winter, but we are not talking about the winter, you know, for a few months.  We are talking about for ten months.


So that is the reason why it is not a house that has certain electric appliances and other wires to –- it is a consumption level of -- and then the average of the selection is also, on average, 800 kilowatt-hours per year, on a monthly basis.


So this is exactly as we indicated in evidence, in response, that is -- 80 percent fit into a year-round residential consumption profile.


MR. McGEE:  Yes.  Okay.  So there are a lot of assumptions made there, then.  That's -- this is the answer that you are giving.


Yes, okay.  The other question I had was the meter reading costs.  I think this was one of Bill Harper's questions.  And I don't have the reference number, but there was a table there indicating allocated meter reading costs for various customer classes.  I'm sorry, I can't find it, but it was referred to by Bill Harper.


MR. ANDRE:  Mm-hmm.


MR. McGEE:  So if you could just put that back up, if you can find it?


MS. LEA:  Can anybody help us with what that number might have been?


MR. ANDRE:  I know the IR he is referring to, so if you want to ask the question...


MR. MCGEE:  Well, let me just ask the question.  The meter reading costs for the seasonal class was very, very high.  And I wonder if that takes into account the fact that customers with smart meters that don't really work, there are a number of those, and that's one of the reasons that the meter reading cost is so high.


But does it take into account the fact that those customers without a smart meter that is working, the meter's only read once per year, not four times per year, which is more typical for the other residential classes?  We're talking about annually.


MR. ANDRE:  Yes, Mr. McGee.  So the meters are working.  They're reading the consumption.  They're just not communicating.


And the number of meter reads that are assumed for the seasonal customers, yes, does take into account that it would be -- is it quarterly or biannual?  Once a year.


MR. McGEE:  Historically it has been annually.


MR. ANDRE:  Annually; I stand corrected.  Annually.


MR. McGEE:  Once a month.  And I don't -- and there seems to be no reason to change that.  Once a month in the fall, right in the middle deer-hunting season.


MR. ANDRE:  For the manual meter reads it would be based on the assumption of the once-a-year read, what they currently get.


MR. McGEE:  Yes.  So that -- yes, so $72 would cover that one annual read, then, I presume?


MR. ANDRE:  Right.  Yes.  That's correct.


MR. MCGEE:  Yes.  Okay.  And you know, the other ones are read more frequently, so when you multiply by four, meter reading costs for the other classes are much higher than they are for the seasonal; is that correct?


MR. ANDRE:  Yes.  The model would take in the frequency of the -- it would take in that average cost that you see there, and then the frequency of the meter reads in coming up with the allocation of the meter reading costs to the classes.


MR. McGEE:  Yes.  Okay.  I mean, most -- well, most manual meter reads are quarterly, excepting for seasonal.  Seasonal has always been once --


MS. LEA:  You are fading again, sir, sorry.


MR. MCGEE:  Yes.  The most residential manual reads are done quarterly.  Seasonal, for many, many years, has been only done once annually, in the fall.


Okay.  So they're the only questions I have, and I presume everybody is ready for a bit of lunch.


MS. LEA:  Thank you very much.


Any other matters to discuss before we go to lunch?
Procedural Matters:


I would appreciate if Hydro One has this information available, knowing what undertakings it believes it has complied with already, and you may wish to provide this in writing later today if you can't come up with it off the top of your head.


And then if you have any anticipation of when the others might be available, that is always useful, but I don't insist upon it.


MR. ROGERS:  Well, we can't promise, Ms. Lea, but the practice is to do these as quickly as they can, and hopefully most, if not all, will be done by Friday.  We're not promising, but they're going to do their best.


MS. LEA:  It would of assistance to us to know if in these two days you believe you've satisfied certain undertakings so I can reference them in the transcript.  I have to confess I got a bit confused at times.


MR. ROGERS:  Can we do that this afternoon?  I think we're -- let us reconcile records and we'll let you know what we think has been answered.


MS. LEA:  That's great.


MS. GIRVAN:  Ms. Lea, can you just clarify for other people that probably are going to be -- that aren't here, what the expectation is for tomorrow?


MS. LEA:  At 9:30 tomorrow we will be meeting here again.  And by "we" I mean Board Staff and the intervenors in the distribution case, with a facilitator, to discuss if there are issues that we believe that we can move towards settlement on.  And even if we can't think about that completely or there are issues that we don't believe can be settled on, what issues might be considered to be handled in writing.


So that discussion is to be held here at 9:30 tomorrow.


And it is an important one for intervenors, because of course the settlement conference begins next Monday and you will need to consider whether you are able to sign on to any settlement that arises from that conference.


Bill?


MR. HARPER:  Actually -- and I apologize -- there was one question that I had that -- I didn't write it because I wasn't too sure who else was going to appear here.


MS. LEA:  Who are you?  Colombo?  Yeah, go ahead.


[Laughter]
Questions by Mr. Harper:


MR. HARPER:  It has to do with the evidence that was filed by GEC, Bill Marcus's evidence that got filed by GEC.


Putting aside all of the rate design stuff, which we will park for now, just on the very narrow issue he made some comments about the minimum system and concern about double-counting on the service lines.


And I was just wondering -- I appreciate I didn't see any IRs filed by Hydro One, but whether Hydro One had a -- this might be help us in terms of the position being put forward in the next week, whether Hydro One had a view in terms of whether Bill Marcus had a legitimate issue there or not.


MR. ANDRE:  With regards to his comments about double-counting of the services, yes.


When we looked at it, our thought was that that might be a legitimate issue.


MR. HARPER:  That was the only part I was interested in following up on his evidence on.  Thank you very much.


MS. LEA:  Thank you.


The only thing Board Staff I think has to follow up on, we will be issuing a -- or asking the Board to issue a procedural order to deal with the matters of confidentiality and any submissions arising on that issue.  I think that is it from us.


Thank you all very much for your attendance.  Thanks very much to Hydro One and its witnesses for their careful consideration of our questions and their answers.  And we will see some of you tomorrow morning, and others on Monday.  Thanks.


--- Whereupon the conference concluded at 1:17 p.m.
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